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Question Number : 1 Question Id : 663695351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Phag dance, also known as Faag or Phaag dance, is a popular folk-dance form of
Options :

1. ® Madhya Pradesh

2. ¥ Haryana

3. % QGujarat

4. % Goa

Question Number : 1 Question Id : 663695351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

W 9, foR B a1 R 7 & U & Hf ST g, &1 TP QBT Ab T g
Options :

1. % ¥ Y

2. « g

3. ® TSRId

4. % TNl

Question Number : 2 Question Id : 663695352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the New Year day of Gujarat that falls during harvest season on the day after Diwali?
Options :

1. # Gudi Padwa

2. # Vishu

3. # Cheti Chand

4. ¥ Bestu Varas

Question Number : 2 Question Id : 663695352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad & § o9 91 ToR1d &1 7 79 &1 fa § S farelt & a1e Wod dled &t B & GRIM usdl 82
Options :

1. % gl ggar

2. % fay

3. % IS

4. ¢ T RY

Question Number : 3 Question Id : 663695353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Gross Domestic Product - Depreciation =
Options :

1. % National Income

2. # Gross National Product

3. % Net Domestic Product

4. ¥ Net National Product

Question Number : 3 Question Id : 663695353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qohdl TR MG - G5y =
Options :

1. % 91 3

Question Number : 4 Question Id : 663695354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, 100% electrification of Broad-Gauge routes will be completed by
Options :

1. # November 2022

2. % December 2023

3. % December 2024

4. ¥ November 2025

Question Number : 4 Question Id : 663695354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 & SoIc § &1 TS UINUN & SR, Sis-Tl AN BT 100% [aggciaul I IR1 fopar S|

Options :



1. ® 9deR 2022
2. ¢ fadeR 2023
3. % faTeR 2024
4. ® IR 2025

Question Number : 5 Question Id : 663695355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following metals is the lightest and least dense metal?
Options :

1. # Silver

2. # Aluminium

3. ¥ Osmium

4. ¥ Lithium

Question Number : 5 Question Id : 663695355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafRad o 9 SF I UTg Iad 5! 3R o HH T UTg 82
Options :

1. % id}

2. % Tgiafy

3. % 3w

4. ¢ fofyge

Question Number : 6 Question Id : 663695356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The phenomenon by which plant's growth is directed towards light is known as
Options :

1. # Thigmotropism



2. ¥ Phototropism
3. # Transpiration

4. % Osmosis

Question Number : 6 Question Id : 663695356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 UReeT e gRT gl Bt 9 T &) 3R FERE Bt 8, 39 CSIGIE
Options :

1. ® fyrmciusH

2. ¥ USRI (BICIIUSH)

3. % UG (CIRUREH)

4. % TRIROT (STAIRT)

Question Number : 7 Question Id : 663695357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The famous Pong Dam Lake is located in which of the following states?
Options :

1. % Rajasthan

2. % Tripura

3. % Assam

4. % Himachal Pradesh

Question Number : 7 Question Id : 663695357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URTe Ui sy gt Fafeied & 9 fova wrea 7 fRud g2
Options :

1. % SR

2. % IR



3. % 3{H

4. ¢ fermEa yew

Question Number : 8 Question Id : 663695358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The highest mountain peak of is Deomali.
Options :

1. # West Bengal

2. % Assam

3. ¥ QOdisha

4. % Maharashtra

Question Number : 8 Question Id : 663695358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B G Sl udd 91et SqHTel B
Options :
1. % Oigw e
2. % 34H
3. ¢ 3ifg=m
4. % HERTY

Question Number : 9 Question Id : 663695359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Governor Generals prohibited female infanticide?
Options :

1. ¥ Lord Bentinck

2. # Lord Dalhousie

3. # Lord Hastings



4. % Lord Cornwallis

Question Number : 9 Question Id : 663695359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 forg ek S Ra A S RIY] g1 & ufasfed faar
Options :

1. ¥ die dfe®

2. % TS SAGIl

3. % dle ghe™

4. % dls piAdrerd

Question Number : 10 Question Id : 663695360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the East India Company annexed the Punjab and incorporated it within British India?
Options :

1. % 1841

2. % 1857

3. % 1849

4. % 1862

Question Number : 10 Question Id : 663695360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3% 3fSU1 HUA A UNE &) o SR H o forar ik I fafew yra & wnfaa o= feram
Options :
1. % 1841
2. % 1857
3. ¢ 1849
4. % 1862




Question Number : 11 Question Id : 663695361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Practice of Sati prohibited?
Options :
1. % 1829
2. % 1815
3. % 1832
4. % 1847

Question Number : 11 Question Id : 663695361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
il U1 1 e Uidsiferd fovam mam um
Options :

1. ¥ 1829

2. % 1815

3. % 1832

4. % 1847

Question Number : 12 Question Id : 663695362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Golden Girl’ is an autobiography of
Options :

1. # Mary Kom

2. ¥ P.T. Usha

3. #* Sania Mirza

4. # Saina Nehwal

Question Number : 12 Question Id : 663695362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Teg e DI ATHBPUT R
Options :

1. % R pH

2. ¢ UL I

3. % g fist

4. % g1 4gdrd

Question Number : 13 Question Id : 663695363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The headquarters of World Economic Forum is located in
Options :

1. # United States of America

2. % United Kingdom

3. #¥ Spain

4. ¥ Switzerland

Question Number : 13 Question Id : 663695363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fsy 3nfies va &1 g HfRERI
Options :

1. % e Iy AR

2. % gARCE fhirew

3. % W

4.« RgeoRas

Question Number : 14 Question Id : 663695364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

PM Modi launched a Pilot Project of E 100 ethanol dispensing stations at locations in Pune, for the production and distribution of
ethanol across the country in June 2021.

Options :
1. # six

2. ® two
3. % four
4. ¥ three

Question Number : 14 Question Id : 663695364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 2021 H X1 WR & 31 & IdTa 3R faavur & forg pM Higt = gor & RIF TR E 100 YT fAaR01 TR &1 URiD
RIS YR D |

Options :

1. % ¥o

2. % T

3. % IR

4.« dH

Question Number : 15 Question Id : 663695365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following countries realised maximum Bitcoin gains for 2020?
Options :

1. # China

2. % United States of America

3. ® Japan

4. # United Kingdom

Question Number : 15 Question Id : 663695365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fraferiRed & 9 food <=1 2020 & foTT 3iferehad facahig e UTtd fdham
Options :

1. % 4

2. ¥ Tgad I ARG

3. % MU=

4. % gA3CS fhiTeH

Question Number : 16 Question Id : 663695366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Knight Frank’s Global House Price Index for Q1 2021, India has been ranked at the position.
Options :

1. % 52nd

2. ® 48th

3. % 55th

4. % 43rd

Question Number : 16 Question Id : 663695366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q1 2021 & o T13e e & TAId 8139 USd SoR & SR, YRd Bl R R I TR
Options :

1. % 529

2. % 489

3. ¢ 55d

4. % 43d

Question Number : 17 Question Id : 663695367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The concept of Concurrent List in the Indian Constitution was borrowed from the constitution of
Options :

1. ¥ United Kingdom

2. ® France

3. # (Canada

4. % Australia

Question Number : 17 Question Id : 663695367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA AT & FHad Gt DI YR CASICEIERANIRIERIT
Options :

1. % g13cS fhired

2. % B

3. ® PpAlST

4. ¢ Jficler

Question Number : 18 Question Id : 663695368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Constitutional Amendment made a provision for service tax?
Options :

1. ¢ 88th

2. % 76th

3. % Olst

4. % 79th

Question Number : 18 Question Id : 663695368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 f5g YauRe Ty = Ja1 HR &1 Uray= famn

Options :



1. ¢ 88d
2. % 76d
3. % 919
4. % 794

Question Number : 19 Question Id : 663695369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the first Indian to win the All England Open Badminton Championships?
Options :

1. % Saina Nehwal

2. ¥ Prakash Padukone

3. ¥ Nandu Natekar

4. ® Jwala Gutta

Question Number : 19 Question Id : 663695369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T s o dsftie AR shar ot uge YR ®1F g2
Options :

1. % Hrg g

2. ¥ UHIR UIGHIUT

3. % g AR

4. % oI I]sT

Question Number : 20 Question Id : 663695370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the leading run-scorer and century-maker in One Day Internationals (ODI) cricket history as of June 20217
Options :

1. # Virat Kohli



2. # Kumar Sangakkara
3. ¢ Sachin Tendulkar
4. # Ricky Ponting

Question Number : 20 Question Id : 663695370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed & @ HF 9T 2021 T6 Te e siaRigh frdre sfaera & spoft TH-WRR SR Xaed a1 ardl 82
Options :

1. % foRic Digef!

2. #® HHR JMBRI

3. ¢ i dgaax

4. % Rt Uifem
General Ability
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Group Id : 6636957
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Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability
Section Id : 66369520
Section Number : 1

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 66369520
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 663695371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following series.

36Q49, 64581, 100U121, 144W169, ?
Options :

1. * 1962225

2. 9% 196Y225

3. % 225Y256

4. % 169Y244

Question Number : 21 Question Id : 663695371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed saa & R B

36Q49, 64581, 100U121, 144W169,?
Options :

1. % 19672225

2. ¥ 196Y225

3. % 225Y256

4. % 169Y244



Question Number : 22 Question Id : 663695372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following words in meaningful order.

1. Adult

2. Foetus

3. Newborn
4. Infant

5. Adolescent

Options :

1. % 432)5,1
2. % 51,3,2,4
3.23451
4. % 234,1,5

Question Number : 22 Question Id : 663695372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRufafad Tecl o) ardfes %0 & saafRud &3 |

|, TUH
PRI
3. qq9Td

4.1y
5.

Options :

1. % 43251
2. % 5,1,3,2,4
3.2345,1
4. % 234,1,5

Question Number : 23 Question Id : 663695373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. # Chop
2. % Slit
3. % Chirp
4. % Slice

Question Number : 23 Question Id : 663695373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu u fiiwedl A @ & e Rfya % T TuE 81 g1, T faded 3/ diF ot ke 181 & | 39 A et &1 T 3 Sl 3 F 3(av g
Options :

1. # PlcHl

2. % GRAT

3. ¥ heRd

4. % Thg DA

Question Number : 24 Question Id : 663695374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the given options, select the word which CANNOT be formed using the letters of the word:

ORIENTATION
Options :

1. ¥ NATION

2. ¥ ORIENTAL
3. % RATION

4. ¥ ORNATE

Question Number : 24 Question Id : 663695374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T TQ fashedl H 9, 39 Ysg b1 TG B S Ws: ORIENTATION & 3H&R] BT Y1 dcs g1 ST Sff Febll
Options :

1. ¥ NATION

2. ¥ ORIENTAL

3. ¥ RATION

4. ¥ ORNATE

Question Number : 25 Question Id : 663695375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Carpenter : Saw :: Surgeon : ?
Options :

1. # knife

2. % blade

3. % pen

4. ¥ scalpel

Question Number : 25 Question Id : 663695375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdHed BT 997 B S AR UG ¥ 341 UHR ¥ Yafid g fo JhR ¥ gHR1 UG Ugd Ug ¥ Hafed g

963 : 3R :: I Fafbedas - 2
Options :
1. % 9%
2. ¥ =S
3. % dH

4.9



Question Number : 26 Question Id : 663695376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the triad that is related on the same basis to the triad given in the question.

Sky : Aeroplane : Pilot
Options :

1. # Compass : Ship : Driver
2. # Track : Train : Passenger
3. ¥ Road : Bus : Driver

4. % Paper : Letters : Reader

Question Number : 26 Question Id : 663695376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3G TG BT I HY ol gy B ST U 79§ UM YR IR Jefod g

3BT : §ATS SITS : UTITAC
Options :

1. % foagdd : STy : Irdd
2.un:m:trﬁﬁ
3. ¥ gD . dY : dIcddh
4. % PHATS : TF : U6 D

Question Number : 27 Question Id : 663695377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “EXAMINATIONS” is coded as “XEAMNIATOINS”, then what is the code for “RESULT”?
Options :

1. % REUSTL

2. % REUSLT



3. ¥ ERSUTL
4. % ERSULT

Question Number : 27 Question Id : 663695377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I “EXAMINATIONS” BT “XEAMNIATOINS” & =0 H hifed a1 a1 g, dl “RESULT” BT hig T B2
Options :

1. ¥ REUSTL

2. % REUSLT

3. ¥ ERSUTL

4. % ERSULT

Question Number : 28 Question Id : 663695378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If black is brown, brown is blue, blue is purple, purple is green, then what is the colour of the sky?
Options :

1. # blue

2. ¥ purple

3. % green

4. # brown

Question Number : 28 Question Id : 663695378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS BT YRT 7, YR 1 &, el ST 8, ST 8X1 8, Al ST BT I H1 82

Options :



4. %

Question Number : 29 Question Id : 663695379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sheila said that “the father of Rahul's father is my father.” How is Sheila related to Rahul?
Options :

1. % Sister

2. % Mother

3. ¥ Paternal Aunt

4. ¥ Daughter

Question Number : 29 Question Id : 663695379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 3 et b g & e & forar 3R forar €1 < g | 2 Tefa 2
Options :

1. % dgd

2. % HIdl

3.9 3T

4. % ¢

Question Number : 30 Question Id : 663695380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Harun is heavier than Mahesh but lighter than Sameer. Mahesh is lighter than Atul but heavier than Raju. Who among them is the lightest?
Options :

1. # Atul

2. % Mahesh

3. ¥ Raju

4. % Sameer



Question Number : 30 Question Id : 663695380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&, Te¥ I YRY § Afchd THR T Gehl & | Ha T, A U Behl & alfch Ao ¥ HRT B 1 378 U Yad §edbl DI 82
Options :

1. # 3Add

2. % g

3. ¥ X[

4. % FHR

Question Number : 31 Question Id : 663695381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : Some ants are sparrows.
Statement 2 : All sparrows are mangoes.

Conclusion I : All mangoes are sparrows.
Conclusion II : Some ants are mangoes.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follow

4. % Either conclusion I or II follows

Question Number : 31 Question Id : 663695381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § <l pyY feu u 8, foge a1¢ gl e [ 3R 11 fau U 81 3mueh! 37 HUA &l I AT 8, HA 81 I8 ITHId: J1d a2 3 e Ui
Bl 3MTUD! T I 6 (b 4T Y Fh ! & J DI 1, (S DIs 81 Al 14T T ST H I SIER0 PRl G|



Y1 : O i TRAT |
Y 2 I TTT A B

s 1 Wt s TRaT B

fred 11 - po ifeai s |
Options :

1. % $Had [T5HY [ 3FITRV HT 8

2. ¥ HId DY 11 TRV BT §

3. % fspel 1 3R 11 ST SFERUT HRd §
4. % Il FTSHY [ AT 11 S8R0 B §

Question Number : 32 Question Id : 663695382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, there are two statements given, labelled as Assertion (A) and Reason (R). You have to choose the correct alternative from the
given options.

Assertion (A) : Most of the Himalayan rivers are perennial.

Reason (R) : They are fed by melting snow.

Options :

1. ¥ Both A and R are true and R is the correct explanation of A.

2. % Both A and R are true but R is not the correct explanation of A.
3. % As true but R is false.

4. % A is false but R is true.

Question Number : 32 Question Id : 663695382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬂﬁ,ﬂ$ﬂ?mw%ﬁ@3ﬁ\%wf@)ﬁ?W(R)%WﬁHﬁH%&TW%I 3! faT Y fasedl & @ I8t fadey &1 w= &A1
|
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Options :

|.¢¥ ARRTTNIIE 3R R, A B Jel ARS8 |

2. % A SRR GHI I 8 AfbT R, A B! Jg! TR Tal g
3. % A g AfBAR TT B

4. % AT g APTR IR

Question Number : 33 Question Id : 663695383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If + means multiplication, - means division, X means subtraction and + means addition, what is the value of 2 +3 +2 x 15 - 3?
Options :

1. % 8

2.9¥3

3. % 11

4. % 24

Question Number : 33 Question Id : 663695383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g + BT RO g, - BT SRI UFT G, x BT AT Ta g 3R - BT TS, M2 +3+2 % 15-3 BT HAE FT )2
Options :

1. % -8

2.9 3

3.% 11

4. % 24

Question Number : 34 Question Id : 663695384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the missing number.

96 100 | 132

4

S g 3

21 32 s

Options :
1. % 20
2.9 25
3. % 30
4. % 32

Question Number : 34 Question Id : 663695384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

o[cd H&AT A FI|

96 100 | 132

4 6

S5 g 3

21 32 s

Options :
1. % 20
2.9 25
3. % 30
4. % 32

Question Number : 35 Question Id : 663695385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram represents cities, educated women and unemployed women. What is represented by educated
unemployed women who live in cities?

Educated

women
— Unemployed
women

Options :
1. % A
2. % B
3.%D
4. ¥ E

Question Number : 35 Question Id : 663695385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fear mar 37 3@ Mg, RfET Afeenyt K SR Afgenat F yaTReE a=ar g1 @Bt #F ' Jer
Rifea e Afgamst @ w2 sfafRftes G = 32

Options :
1. % A
2. % B



3.¥D
4. ¥ E

Question Number : 36 Question Id : 663695386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many maximum number of squares are there in the given question figure?

Options :
1. % 26
2. % 30
3.9 35
4. % 38

Question Number : 36 Question Id : 663695386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS WA Hpfa H I Fr 3fewan e haer 87

Options :



1. # 26
2. % 30
3.¥ 35
4. % 38

Question Number : 37 Question Id : 663695387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

VIAT<]

1. # >
2. & >:
ok
3.¢
=




Question Number : 37 Question Id : 663695387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fTfaf@a J 9 Fia o 3o 3pfa T 3pfa $ g@er F1 [ F g2

VIAIL]

Options :
=
1. % i
>Z
2. % .
e}
3.¢
L.
4, %

Question Number : 38 Question Id : 663695388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following answer figure completes the series of the question figure?

o A0 Q t =l A 1t
O = 4 ¥ o
& lll A O g|o =
Options :
= Fi
O
L% 1 0
O O
5 % Fa ]
t 0
Fa
L S
= O
T
Fal
4. ~

Question Number : 38 Question Id : 663695388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f=faf@a & & #la d@ 3o o 9o smpfa & g@er FF [ FEr 82

@] AlO O t =| A 1
0 = ? A 0
Options :
= A
O
L% t O
o O
5 % Fa 1
t (@
i
38 = O
= O
.T.
Fal
4. =

Question Number : 39 Question Id : 663695389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



From the given answer figures, select the one which is embedded in the question figure.

<
<

Options :

3.¢

4. %

Question Number : 39 Question Id : 663695389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

& 1% 3o} AT H W, 3T NFT F TS Y SHH I HFT AR 2l

<
<

Options :

4. %

Question Number : 40 Question Id : 663695390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A paper is folded and cut as shown in the given figures. Select from the options how will it appear when opened.




Question Number : 40 Question Id : 663695390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& 5 IMpfa A G@T 3gaR & FETe # AT iR Fer mar g FEedt # & 7w F e it
Qe 9T I Har femE |




Arithmetic Ability

Group Number : 3
Group Id : 6636958
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 66369521
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 66369521
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 663695391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the largest 4 digit number divisible by 12?
Options :



1. * 9984
2. % 9987
3. % 9999
4. ¥ 9996

Question Number : 41 Question Id : 663695391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 fAHTST 4 31T Tad IS1 T T 82
Options :

1. %* 9984

2. % 9987

3. % 9999

4. ¥ 9996

Question Number : 42 Question Id : 663695392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 134/0.134 = 13.4/x then what is the value of (x + 50) x 1.34 ?
Options :

1. ¥ 67.02

2. % 134

3. % 434

4. % 57.06

Question Number : 42 Question Id : 663695392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 134/0.134 = 13.4/x 8 Al (x + 50) x 1.34 T HIT T 82
Options :

1. ¥ 67.02

2. % 134



3. % 434
4. % 57.06

Question Number : 43 Question Id : 663695393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Printed price of the article is 650 and the shopkeeper gets a discount of 40% on the printed price when he purchases it. The shopkeeper sells the
product at 650 itself. What is the profit percentage?

Options :
1. #® 40%
2. % 33.33%
3. % 25%
4. ¥ 66.67%

Question Number : 43 Question Id : 663695393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%] BT Hf%d Hel 650 B 3R GHHER DI 3 TWRIG W fsd Hed W 40% P e UK Blddl 8 | gPTHGR W IdIE Bl 650 TR 81 Sl 6|
AT UfcRTd T 52

Options :
1. * 40%
2. % 33.33%
3. % 25%
4. ¥ 66.67%

Question Number : 44 Question Id : 663695394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The two numbers are 30% and 50% more than the third number. What is the first number expressed in terms of percentage of the second number?
Options :

1. #® 66.67

2. % 115.38



3. ¥ 86.67
4. % 76.92

Question Number : 44 Question Id : 663695394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l T Rt T ¥ 30% 3R 50% HfYH € | Ugch e 31 ¢ Fordy sl Tvedt o UfRid & U H ayad ford it 82
Options :

1. ® 66.67

2. % 115.38

3. ¥ 86.67

4. % 76.92

Question Number : 45 Question Id : 663695395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a number is 30% more than the second number, how much percentage is the smaller number less than the first number?
Options :

1. * 33.33%

2. % 30%

3. ¥ 23.10%

4. % 20%

Question Number : 45 Question Id : 663695395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS Teh TRSAT GURT - ¥ 30% 31ferep g, ol BT Te ugel! G ¥ fovat ufa=rd & 82
Options :

1. %® 33.33%

2. % 30%

3. ¥ 23.10%

4. % 20%



Question Number : 46 Question Id : 663695396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper buys a bicycle at 5000 and marks the cycle at 30% higher rate, then gives a discount of 10%. What is the selling price?
Options :

1. % %7222.22

2. % 26500

3. % %5850

4. % 35500

Question Number : 46 Question Id : 663695396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T GHMGR Udh AR 5000 T BRIGAT § 3R AISfdt Bl 30% 3HH &R W 3ifdhd Bl 5, TR 10% Bt e car g | fawpa g w1 g2
Options :

1. % 3722222

2. % 26500

3. ¥ 35850

4. % T5500

Question Number : 47 Question Id : 663695397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man bought 15 dozen of goods at price of 5000. The rate per dozen at which he sells the good is 500. The total profit that he earns is P1. P2 is
the profit that he would have earned if he bought the goods at half the cost and sold at double the price. What is the ratio of P1 to P2?

Options :
1. % 5:1
2.% 1:4
3.% 1:2
4. ¥ 1:5



Question Number : 47 Question Id : 663695397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3MGH! = 5000 B AN TR 15 Goi axg BRIGT | Uit o T & o TR 98 ag 99l ¢ 98 500 § | 98 ol ot ary Sfoid &l § a8 Pl
g1 P2 98 @TH § ST I 3ifofd foran 8T afe a8 axg &1 et ArTd IR Wiiedn 3R g Hed WR S5dT| P1 ¥ P2 HT 3JUTd 1 82
Options :

1. % 5:1
2.% 1:4
3.% 1:2
4.91:5

Question Number : 48 Question Id : 663695398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two numbers with the ratios of 5 : 4. The sum of the numbers are 72. If 9 is subtracted from both the numbers what is the new
proportion?

Options :
1. ®= 31/27
2.9 31/23
3. % 5/4
4. % 23/31

Question Number : 48 Question Id : 663695398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 : 4% SIATd aTelt &l WRSATY & | =TS 1 AN 72 B 1 Al 1 Temafi & F 9 TeT fean Sy of 741 SuTd o 8
Options :

1. % 31/27

2.9 31/23

3. % 5/4

4. % 23/31




Question Number : 49 Question Id : 663695399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of salary of Ram and Shyam are in the ratio of 3 : 5. The sum of the salaries are 64000. If the salary of both is increased by 3000, then
what is the new ratio of their salary?

Options :
1. % 3:5
2.9 27:43
3.%5:3
4. % 43:27

Question Number : 49 Question Id : 663695399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wﬁ?@g%&mﬁ&guld 3: 5% JUTT | &1 I BT AT 64000 § 1 TfS G & d- H 3000 BT gig B 91Tl &, Al S da BT 41
SIUId HT 8?2

Options :
1. % 3:5
2.9 27:43
3.%5:3
4. % 43:27

Question Number : 50 Question Id : 663695400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound interest on X 20000 at 8% p.a. is T 7210. What is the duration?
Options :

1. * 4.5 years

2. % 3 years

3. ¥ 4 years

4. % 4.2 years



Question Number : 50 Question Id : 663695400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T a8 8% T % 20000 TR AhdlG SIS 2 7210 § | Al a1 82
Options :

1. % 4594

2. % 394

3.¥ 494

4.% 4294

Question Number : 51 Question Id : 663695401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The minimum number of years in which a sum of money put out at 25% simple interest will be more than double is:
Options :

1. % 4

2.¥5

3.%3

4. % 6

Question Number : 51 Question Id : 663695401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 I B} AdH T R 25% IR TS TR G 178 M S & 34 grft, a8 8
Options :

1. % 4

2.¥5

3.%3

4. % 6

Question Number : 52 Question Id : 663695402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A train travels for a distance of 50 kms and reaches a destination. The time taken to reach the destination is 35 mins. What is the speed of the
train in meter per minute?

Options :

1. ¥ 1428.57
2. % 1456.88
3. % 1411.25
4. % 1456.35

Question Number : 52 Question Id : 663695402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh ST 50 kms B g3 08 PRl ¢ 3R Teb Tied deb Ugdll 5 | Tiiodl e Uga H 35 FHe &1 w7 TTa 8 | Hier Ufd firefe # Yermst
@1 7R forat 82

Options :

1. ¥ 1428.57

2. % 1456.88

3. % 1411.25

4. % 1456.35

Question Number : 53 Question Id : 663695403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man travels in a car for 5 hours. He travels first 2 hours at a speed of 90 km/h and 3 hours at a speed of 10 m/s. What is the distance covered
(in km) by the man in 5 hours?

Options :
1. # 210
2. % 250
3. % 300
4, ¥ 288

Question Number : 53 Question Id : 663695403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3MGHl BR H 5 G U BT & | 98 Ugd 2 e 90 km/h 1 71 I 3R 3 6T 10 m/s B I A T HRAT & | SMTSH gRT 5 6 H ag 1 T
& (km B) fBaT 82

Options :

1. # 210

2. % 250

3. % 300

4.« 288

Question Number : 54 Question Id : 663695404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C can do the work in 10, 20, 40 days respectively. If on first day they all work together and on second day A and B work together, how
much of work will be done in those two days?

Options :
1. ¥ 13/40
2. % 1/2
3. % 1/4
4. % 1/5

Question Number : 54 Question Id : 663695404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, CHRT: 10,20, 40 fel & & - Wb § 1 IS Usd a1 3 Tl v a1y Hf avdl § ofR gk fa A 3R B U9 91 &1 adl &, al 94
3l fot & foram oo fopa e

Options :

1. ¥ 13/40

2. % 12

3. % 1/4

4. % 1/5




Question Number : 55 Question Id : 663695405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B, C, D can do the work in 7, 14, 21 days respectively. If B and C do the job for 2 days then how many days will D take to complete the
remaining job alone?

Options :

1. % 18 days
2. # 6 days
3. ®# 7 days
4. ¥ 12 days

Question Number : 55 Question Id : 663695405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

—?\%E’sz 7,14, 21 TG A SR TR TP ¢ 1 TG B 3R C ST BRI &1 2 7 & T = & 1 D 31l AN BT B R PR H T fed
?

Options :

1. % 18feq
2. % gfeq
3. % 7faq
4. ¢ 121

Question Number : 56 Question Id : 663695406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many spherical balls can be made up of 35 cm high cylinder with radius 4 cm where the cube of the radius of the sphere is 1.4 cm.
Options :

1. % 1760

2. % 350

3. % 1700

4. % 300



Question Number : 56 Question Id : 663695406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 cm AT 3R 35 cm $d 9T ¥ {1 MeATHR 7 SIS S Fhdll &, 5! TMel b1 1ol BT 9 1.4 om 5
Options :

1. # 1760

2. % 350

3. % 1700

4. % 300

Question Number : 57 Question Id : 663695407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 cubic cm of marble weighs 20 grams. The weight of marble is 100 kg. What will be the length of the marble if its width and height is 20 cm
and 5 cm respectively?

Options :

1. % 20 cm
2. % 50 cm
3. % 10 cm

4. % 25 cm

Question Number : 57 Question Id : 663695407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 "9 cm GITHRAR T HR 20 UTH BIaT 8 | TTHRAR BT HR 100 ke § | THRER P AaT8 901 811 IS 591 A1sTs 3R FHaTs HHTT: 20 cm
ﬁ?Scm%‘?

Options :

1. % 20 cm

2. % 50 cm

3. % 10 cm

4. % 25 cm




Question Number : 58 Question Id : 663695408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table shows the goals scored in a football match by the teams in all the 3 matches. Which team has the highest

average goal scored by in all the 3 matches?

Teams Match 1 Match 2 Match 3
Team A 5 9 7
Team B 3 6 8
Team C 4 7 9
Team D 1 3 5
Team E 2 6 10

Options :

1. ¥ Team B

2. % Team A

3. ¥ Team D

4. % Team C

Question Number : 58 Question Id : 663695408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



anforerr @t 3 F=T F ST GART Feara AT F FAC AT TS H gAT g1 W 3 F= F fhw &\ v
garrae e e 27

&gt 91 g2 g3
A 5 9 7
rat: ! 3 6 8
Hc 4 7 9
it o) 1 3 5
e 2 6 10

Options :

1. % dEB

2. ¥ 3T A

3. % 9D

4. % & C

Question Number : 59 Question Id : 663695409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The sales and profit proportions for the year 2015 is shown in the bar chart. The total profit for the year 2018 is 100
crores. If annually the profit has increased 10% starting 2015, what was the profit for FMCG in 20157

B FMCG m Motor m Delivery © Telecom M Fumiture

¥ 120% -

£

@ 100%

g = e

f = !

i _ 15%

2

2 s0% -

E. m -

-

c

m

8 20% |

5=

w

0%
Sales Profit

Options :
1. % 15 crore
2. % 13.36 crore
3. % 75 crore

4. % 11.26 crore

Question Number : 59 Question Id : 663695409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



IR W # IY 2015 & o0 sk 3R omer 3ard SRiam 127 g1 99 2018 & fow ef omer 100 s &
afg 2015 & arftes o # 10% #T 3 g8 &, a 2015 F FMCG &7 = e am?

sFMCG B HTEY #fARUr REER e GeTR

i

Question Number : 60 Question Id : 663695410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

120%

100%

BO%% -

& aox |
£
e P

Options :

1. % 15HAS
2. % 1336 IS
3. % 75U
4.9 1126 S

ATY Ut (% H)




Tell whether the graph is positively skewed. What is the mode?

45 - 40 42
40 36
5
30 - 25
T 25 -
3 20
(w] 1 15
15 - 10
104 7
5
0
35 40 45 50 &0 70 B0 S0
Age
Options :
1. % No, 70
2. % Yes, 70
3. ¥ No, 60
4. ® Yes, 60

Question Number : 60 Question Id : 663695410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TaC & F7 T TAcEE w9 ¥ RoT (T9Y) Bl ages 4 82

45 - 40 a2
—
a0 - g i 36
35 - i
ol 25 /
23 + P
E 20 - ._
151 10
104 7 = \
| o \
5 \1
B
35 40 50 60 70 80 90
Options :
1. ¥ 81, 70
2. % 81,70
3. % g1, 60
4. % g1, 60
General Hindi
Group Number : 4
Group Id : 6636959
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No




General Hindi

Section Id : 66369522
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 66369522
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 663695411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRad Uy #, IR Al A 9, 39 fadey &1 994 3 o fobar & W a1 Il fdsea gl
1T = HW Y TR Foranrdt|

Options :

1. % Tgod foba

2. « RN o
3. % gdapIere fohdl
4. % 9raYTd fobar

Question Number : 61 Question Id : 663695411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad vy A, IR fAwdl § B, 39 fawey &1 T &3 &Y fovar & Ne aren Il faweu gl
RTYT A HUT I SR Forardt|




Options :

1. % Tgod fobar

2. « RN o
3. % gdapIere fohdl
4. % raYTd febar

Question Number : 62 Question Id : 663695412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gyﬁ«r@ﬁmrﬁ,wﬁmq‘fﬁﬁ,wiamwmqw B Sl HIYD T 3T T e o AR AU U a1y & foIT s/ & e &1 Hat f[ddbed
|

(3R TTed Y ST, Tie o S|
Options :

1. % Jddyaigd

2. % furg

3. ¢ fowmnfeays

4. % qUIOAYD

Question Number : 62 Question Id : 663695412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gyi%ﬁ;ausrﬁ,wﬁmq‘fﬁ@r,wﬁwmwﬁ@ﬁwﬁﬁnmw%wﬁuww%ﬁwm%ﬂamwm
|

(3R Tted BT ST, Tic o S|
Options :

1. % Jeydgd

2. % fqurg

3. ¢ fauqarieaiu®

4. % qHIOAYD



Question Number : 63 Question Id : 663695413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR fawed! o 9, 39 [daed &1 997 &< Sl HIgaTad U311 &1 Hal [ddbed 8l o |
Options :

L. * U3[@

2. % qlHddr

3. % N

4. DIl

Question Number : 63 Question Id : 663695413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed uy 8, TR foeedl § T, 39 fAwey &1 999 &% Sl HIgaTas I3 &1 98t faded 81 71
Options :

1. % U

2. % qIHddl

3. % X

4, & DIl

Question Number : 64 Question Id : 663695414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad vy A, IR ieedl § T, 39 fawed &1 T B ot 9441 & He &1 Jgl fawea gl |
o T gt g BI Ul T |

Options :

1. # YHddd
2. % gIYArEID
3. ¢ AetarEs



4. % JFgarad

Question Number : 64 Question Id : 663695414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed uy A, IR foweal 7 9, 39 faweu &1 97 &8 S 991 & U &1 Jel fawea g1l
o < g g™ BT U I |

Options :

1. % UYdrad

2. % IYdrasdh
3. ¢ ASldra®

4. % YD

Question Number : 65 Question Id : 663695415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Faffad Uy |, IR fawddl | 9, 39 Agt fdhed &1 IU9 & ol Il & ot U Weg &1 fddbed gl

foat 91 BT 7[g I§RI S arell
Options :

1. ¥ Ay

2. % A

3. % f:T

4. % gfdar

Question Number : 65 Question Id : 663695415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Faffad Uy |, IR fawddl | 9, 39 Agt [ddhed &1 IU9 & ol IIaiN & 07U U Weg H1 [ddbed Bl
fohft STd BT 7[¢ Y5® SHA aral




Options :

1. v HqEY

2. % !
3. % f4:9m

4. % fdar

Question Number : 66 Question Id : 663695416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR fowedl 7 9, 39 A8 fadey &1 9g7 &3 o faT U Weg & et 3rf o1 Ifa fasweu 81|
TRT

Options :
1. % Ryed
2.9 Yddl
3. % g
4, % dd

Question Number : 66 Question Id : 663695416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad sy A, IR iwddl § T, 39 I8 faweu o1 T B3 St feu 7T reg & ot 31 &1 I fasweu 81|
TRT

Options :
1. * Ryad
2.9 Ydd
3. % g
4, % did

Question Number : 67 Question Id : 663695417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFafaRed Uy & aR fawed § 9, 39 98l [dwed &1 99 o St Rad RIF & o Swged e &1 el [dhed g
YRA | 81 78] dfeh R 1t I ABUT §|

Options :
1. % YidR
2. % 3R}
3. ¥ dIg}
4. % Uiy

Question Number : 67 Question Id : 663695417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawet § 9, 39 et faswey o1 wom &3 S Rad ™ & i Iuged Wsg o1 98! fadeu 3|
HRd H gl ! dfep HRA 1t I ABa ||

Options :
1. % diR
2. % A}
3. ¥ dlg}
4. % Uiy

Question Number : 68 Question Id : 663695418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy &, IR fawedl § 9, 39 fadhed &1 I8 $1 off G e &1 Jal Ao g
Options :

1. #* I=Ylq

2. #® JR3M

3. % Yo

4. ¢ YT




Question Number : 68 Question Id : 663695418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy &, TR fowedl § 9, 39 fawey &1 999 &3 o Y s &1 Tel faweu 3|
Options :

1. #® =Yg

2. #® JR3™MH

3. % I

4. % o

Question Number : 69 Question Id : 663695419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawent § 9, 39 fawey &1 7o &3 S fou 78 arey & e gfy & e &1 9ed ores1 faweu ]
FCRERENERCEEIRER RN R i

Options :

1. % Jhard
2.« Tegrd
3. % FyraAry
4. % gy

Question Number : 69 Question Id : 663695419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad ve o, TR fawenl § 9, 39 fawed &1 7o &1 S foU 78 a1y & e i & 9 &1 9ed orest fawe ]
GG | IRT UHiel SRS H Y& o1 1 BRI |

Options :
1. % Hopard
2. ¢ Hagrd




3. % gy
4. % fqugef

Question Number : 70 Question Id : 663695420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofliad Uy & IR foeeal ° T, 39 ey &1 Tg &1 oY T 7TV 9190 & I Ul & Y o1 Ja9 3T a2
g3 f& a1 3@ AramS Ta a3

Options :

|, % GdOaYDH
2. ¢ IRYYIdD
3. % guldrae
4. % YIfaRNde

Question Number : 70 Question Id : 663695420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 9w cd &1 987 &3 oY feU 7T are & foIE Ue & He &1 a9 33T Apu g
93 fet a1e 3ra Hramh T o i 8

Options :

1. % FqEEYysD
2. ¢ IRYYdD
3. % gUidEIae
4. % TATfEIAs

Question Number : 71 Question Id : 663695421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad vy o, TR fawet § 9, 39 fawey &1 T B3 S Y a1 T Jay 31T [dhed g |
Options :




1. ® A SI 3T §¢ T &
2. % TH Igd 31 §¢ T B |
3. ¢ JH g 3T 96 T BT
4. % QP! 9gd 3T ¢ T G|

Question Number : 71 Question Id : 663695421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR faded! 7 9, 39 [dded &1 997 3 ol Y a1 $T Had 3BT f[adhed 3|
Options :

1. % JH I3T M §¢ T g |

2. % qH §gd 3 ¢ T 5|

3. ¥ JH g 3T §g T FT

4. % QD! 9gd 3T 9 TAT = |

Question Number : 72 Question Id : 663695422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy O, IR fawedl O 4, 39 fawed o1 99+ &< SNt faR19 forg god a1 &1 Tat fddhed |
Options :

1. ¢ B YA 39 TRIT IR ST R |

2. % § Y 39 TRId IR g1 R |

3. % g YIdM! 39 TRId TR ST H

4. % § WA, 39 TRIS, TR g1 &1 |

Question Number : 72 Question Id : 663695422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied us H, IR fadedl § 9, 39 [ddbed &1 98 &1 Sl favW g god 91 &1 Hel fdbed 51|
Options :

1. ¥ § WM 39 TRIe IR &1 |




2. % g YA 39 TRId R SIT B |
3. % g YO 39 TRId TR ST B
4. % g YaH, I9 TR, W AT B |

Question Number : 73 Question Id : 663695423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffaa uy & IR fawe 7 9, 39 fawe &1 7 &% off U U YeTer &1 Tl 3 arer fasea 71

Teh-Hig Rrepre -
Options :

1. % ScATH HIAT
2. % PHIY HA

3. ¢ U HAT

4. % TR HAT

Question Number : 73 Question Id : 663695423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & aR fawedl § 9, 39 fadhed &1 78 &< off [T 7T TR &1 "t 3 arar fadwea 5

- Hig Rypie -
Options :

1. % qgATH DAl
2. % HIY BT

3. ¢ YU 6l

4, % QR DAl

Question Number : 74 Question Id : 663695424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffaa Uy & IR fawe 7 9, 39 fawen &1 7 &% off U 7T YeTer &1 Tt 3 arer fasea 71




Y BTl B efgg B -
Options :

1. % §gd Y& T

2. qaF A1 B ATH BT
3. % 3y Qg g

4. % g B

Question Number : 74 Question Id : 663695424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa uy & TR fawe # ¥, 39 fadwen &1 7o &3 off 3T U YeTear &1 Tt 3 arer fadweu 71
T BT o g g BT -

Options :

1. # dgd Y9 I

2. G ATH G AT BT
3. % 3% Qg gl

4. % 3fdgH g

Question Number : 75 Question Id : 663695425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofiad Uy & IR foeeal ° T, 39 ey &1 T &1 ot <1 71 diopifad &1 |gt 3 arer fdsweu g1
T H HT IS -

Options :

1. ¥ 3G § 91T IS gl

2. % g AT BT

3. % ygid g

4. % YT g




Question Number : 75 Question Id : 663695425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed gy &, IR eedl 7 9, 39 9w cd &1 987 &% oY <1 718 albifad &1 agt 3 arar ey g1

T W TS -

Options :

1. ¢ 3 § 1T Idd gIHT
2. % g Al BT

3. % yqfid g

4, % HIY dqd-l

Sub-Section Number : 2
Sub-Section Id : 66369523
Question Shuffling Allowed : Yes

Question Id : 663695426 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

T fou T Y @) egds g SR A 3T T R ST SaR S

ToR IaTaR gl Yt 3 3T B S g, SIS, WM, GOT, Thd, s8f 3n1fe S g7fon ¥ 3 faams | Udes S0 - av™d 7 |
STia RIch 3T IR 81 gD1 § 1o S-S dl 1GRG 81 T § Sita- I | Yl F@l D1 damRId gU fad SO SHidiRe Jfaadl o fawgd
TR gHI1 8| 3d &I BT Wi gia it fdd ik §11 gai &, 98 FRaR g SR a-ra ¥ tifed ]| a8 fohan € viifaes el 1 siaR
@, FH o R TR 1 YT 59 adb a8 3T HioR W& T8l gl 9 I gu! ¥ o Jfgd U 86 J@ P Wi & fole i geax
3T T URITRT BT ST ST, ST G 3701 U Tfara 1, for 3 g6 U w=rard At fireiT ford g9 a1 gd 8 1 g9 HiaR

3 d faaat fE 8, STaxgeddl § S8 o H &1 | TN 81 Udh UHT I0H Ud IRA AT & Forids gRT gH SU-T fdadl & SR 3d 3iHg,
il Td ifd &1 U1 R qohd & | HeMY ooiier 3 aNTRIRd H fora § 79 &1 giidl &1 b1 g1 AT || f 89 3o 3d:HRul &I ufad
TR 9 DI 13T B AGHH HRd gU Sita- AT B dl W al 3 3MHg I U ST of A1 &1 9 1 g& UM |

Sub questions

Question Number : 76 Question Id : 663695427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3Tw5E & TR i & B IR g Afad b =itel Bl YT Iebl g2

Options :

Question Number : 77 Question Id : 663695428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Twse H gl § fdd UM &1 31 A1 ST T 82
Options :

1. % ffde e e

2. % 3{d g& ol e S[eHT

3. % 919 9 ifsd W8

4.« YR & & & UgaHAl

Question Number : 78 Question Id : 663695429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 3Tic TG TMifd &) U B T T dRIBT ST 11 82
Options :

1. % o ggfedr

2. % QR R} fear

3. % wifq Wkt g

4. G

Question Number : 79 Question Id : 663695430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafiRad 7 ¥ & 1 URie &7 TaiadaTe TG 82

Options :



1. % O
2. % AR

3. ¢ [RIaH
4, % 9dH

Question Number : 80 Question Id : 663695431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S 3T B Pls I MNP
Options :

1. ¢ TGN - Uep IH AN

2. % ION 9 T

3. % HH UXHIRT

4. % f4001 04 AgHH

Question Id : 663695426 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

9 fou T TR EFgas U¢ SR A 3T TN UR ST SaR ¢

ToR IaTaR wigl Wi 4 ST B ST g, SIS, WM, GT, ThRd, 381 3f1fe S gifun ¥ 3 faams 3| Udeh S0 d-avRd & |
Gﬂaqﬁ%ﬁsa:ﬂ:ﬂwa‘rgﬁ%%w \smma‘rﬂquqs‘rw%sﬁa:r‘@nWW@W@WMWW&M

TH1 5| 3 &I BT Wl gipx Y fad SR o911 g3 §, 98 FRAOR g9 SR a-1d ¥ Tifed g | a8 v g1 Hiifaes Il o1 siaR
FMT?I Syt Yt gt 781 81 Gobdll o1d A a8 U4 YR {qﬂ%"fgcsulaa’dqo 3! ¥ B4 i U g6 W 1 W & g 0 geax
&rq:ﬁw&uwuaﬁqaq-uam ST B STt T egiferal bl Wsﬁwﬂmﬁnﬁ&lﬁmmsﬂmm%lmlﬁm
3T il R ¥, STaRawal & S ST @81 N1 € U O S Ud R T & R g1 g S1ue <ifk Y SR 3 3
Yfeaa U4 Mifa &1 T R Tohd & | 7Y doifer 3 IRTRRd # forar § 79 &t girdl ob! b1 g1 TN 8 | IS W 31U {0l &1 ufad
B T ! (AT HR AqhH HRd gU Sl AU X al W4 df 3 TG B U B 51 91 &1 Gt 1 & Ua™ ol |

Sub questions

Question Number : 76 Question Id : 663695427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3Tw5E & TR i & B IR g Afad b =itel Bl YT Iebl g2

Options :

Question Number : 77 Question Id : 663695428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Twse H gl § fdd UM &1 31 A1 ST T 82
Options :

1. % ffde e e

2. % 3{d g& ol e S[eHT

3. % 919 9 ifsd W8

4.« YR & & & UgaHAl

Question Number : 78 Question Id : 663695429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 3Tic TG TMifd &) U B T T dRIBT ST 11 82
Options :

1. % o ggfedr

2. % QR R} fear

3. % wifq Wkt g

4. G

Question Number : 79 Question Id : 663695430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafiRad 7 ¥ & 1 URie &7 TaiadaTe TG 82

Options :



1. % O
2. % AR

3. ¢ [RIaH
4, % 9dH

Question Number : 80 Question Id : 663695431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 3fJwQ BT HIg JuYgad e
Options :

1. ¢ TGN - Uep IH AN

2. % ION 9 T

3. % YHg UXHR]
4. % f4001 04 AgHH
General English
Group Number : 5
Group Id : 66369510
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General English
Section Id : 66369523

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 66369524
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 663695432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

One of the bankers involved/ in the stock market scam/ were finally caught.
Options :

1. # One of the bankers involved

2. % in the stock market scam

3. ¥ were finally caught.

4. % No Error

Question Number : 81 Question Id : 663695432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

One of the bankers involved/ in the stock market scam/ were finally caught.
Options :

1. # One of the bankers involved

2. # in the stock market scam

3. ¥ were finally caught.



4. % No Error

Question Number : 82 Question Id : 663695433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The two monsters battled it/ out on the Mount Fuji and wrestled/ into the ocean.
Options :

1. % The two monsters battled it

2. % out on the Mount Fuji and wrestled

3. # into the ocean.

4. * No Error

Question Number : 82 Question Id : 663695433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The two monsters battled it/ out on the Mount Fuji and wrestled/ into the ocean.
Options :

1. # The two monsters battled it

2. ¥ out on the Mount Fuji and wrestled

3. #* into the ocean.

4. ¥ No Error

Question Number : 83 Question Id : 663695434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.



Neither of the customers (nor the bartender had so much so noticed) him leave his seat.
Options :

1. # or the bartender had so much as noticed

2. # nor the bartender had so much but noticed

3. ¥ nor the bartender had so much as noticed

4. ® No correction required

Question Number : 83 Question Id : 663695434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Neither of the customers (nor the bartender had so much so noticed) him leave his seat.
Options :

1. # or the bartender had so much as noticed

2. % nor the bartender had so much but noticed

3. ¥ nor the bartender had so much as noticed

4. # No correction required

Question Number : 84 Question Id : 663695435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Mason points out that (accusations in collusion for the two) companies were nothing new.
Options :

1. ¥ accusations of collusion between the two

2. % accusations with collusion for the two

3. # accusations for collusion by the two

4. ® No correction required



Question Number : 84 Question Id : 663695435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Mason points out that (accusations in collusion for the two) companies were nothing new.
Options :

1. ¥ accusations of collusion between the two

2. # accusations with collusion for the two

3. # accusations for collusion by the two

4. # No correction required

Question Number : 85 Question Id : 663695436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Her of ice cream and cookies is due to her Olympic team training.
Options :

1. # abberation

2. % negation

3. # delegation

4. ¥ abnegation

Question Number : 85 Question Id : 663695436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Her of ice cream and cookies is due to her Olympic team training.
Options :
1. % abberation



2. % negation
3. # delegation
4. ¥ abnegation

Question Number : 86 Question Id : 663695437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Since I don’t like orange , | purchase non-pulp orange juice from the grocery store.
Options :

1. # frith

2. % statolith

3. ¥ pith

4. % monolith

Question Number : 86 Question Id : 663695437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Since I don’t like orange , | purchase non-pulp orange juice from the grocery store.
Options :

1. % frith

2. % statolith

3. ¢ pith

4. % monolith

Question Number : 87 Question Id : 663695438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.



The big-bang model is based on two assumptions.

P. This principle applies only to the large-scale properties of the universe, but it does imply that the universe has no edge, so that the big-bang
origin occurred not at a particular point in space but rather throughout space at the same time.

Q. These two assumptions make it possible to calculate the history of the cosmos after a certain epoch called the Planck time.

R. The first is that Albert Einstein’s general theory of relativity correctly describes the gravitational interaction of all matter.

S. The second assumption, called the cosmological principle, states that an observer’s view of the universe depends neither on the direction in
which he looks nor on his location.

Scientists have yet to determine what prevailed before Planck time.
Options :

1. ®* RPSQ

2. ® RQSP

3. ¥ RQPS

4. ¥ RSPQ

Question Number : 87 Question Id : 663695438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The big-bang model is based on two assumptions.

P. This principle applies only to the large-scale properties of the universe, but it does imply that the universe has no edge, so that the big-bang
origin occurred not at a particular point in space but rather throughout space at the same time.

Q. These two assumptions make it possible to calculate the history of the cosmos after a certain epoch called the Planck time.

R. The first is that Albert Einstein’s general theory of relativity correctly describes the gravitational interaction of all matter.

S. The second assumption, called the cosmological principle, states that an observer’s view of the universe depends neither on the direction in
which he looks nor on his location.

Scientists have yet to determine what prevailed before Planck time.
Options :

1. % RPSQ

2. % RQSP

3. % RQPS



4. ¥ RSPQ

Question Number : 88 Question Id : 663695439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is SYNONYM (similar in meaning) to the word given below.

mollify
Options :

1. * intensify
2. % aggravate
3. % prolong
4. ¢ allay

Question Number : 88 Question Id : 663695439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is SYNONYM (similar in meaning) to the word given below.

mollify
Options :

1. * intensify
2. % aggravate
3. % prolong
4. ¥ allay

Question Number : 89 Question Id : 663695440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is ANTONYM (opposite in meaning) to the word given below.

eschew
Options :



1. ¥ embrace
2. % shun

3. # renounce
4. % abjure

Question Number : 89 Question Id : 663695440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is ANTONYM (opposite in meaning) to the word given below.

eschew
Options :

1. ¥ embrace
2. % shun

3. ¥ renounce
4. % abjure

Question Number : 90 Question Id : 663695441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the CORRECTLY spelt word.
Options :

1. # apease

2. ¥ appease

3. % appeasse

4. ® apeasse

Question Number : 90 Question Id : 663695441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the CORRECTLY spelt word.
Options :



1. # apease
2. ¥ appease
3. % appeasse

4. ¥ apeasse

Question Number : 91 Question Id : 663695442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the CORRECTLY spelt word.
Options :

1. ¥ arbitrary

2. # arbritrary

3. % arbritary

4. ® arbritry

Question Number : 91 Question Id : 663695442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the CORRECTLY spelt word.
Options :

1. ¥ arbitrary

2. % arbritrary

3. % arbritary

4. % arbritry

Question Number : 92 Question Id : 663695443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Hit below the belt
Options :



1. # A tedious job
2. ¥ Contrary to the principles of fairness
3. % With full devotion

4. ® Angry and overcome by emotions

Question Number : 92 Question Id : 663695443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Hit below the belt

Options :

1. # A tedious job

2. ¥ Contrary to the principles of fairness
3. # With full devotion

4. % Angry and overcome by emotions

Question Number : 93 Question Id : 663695444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Idle hands are the devil’s tools

Options :

1. # Do something exactly right or say something exactly right

2. ¥ You are more likely to get in trouble if you have nothing to do

3. # When you already have it good and get something on top of what you already have
4. ® When one thing goes wrong, then another, and another...

Question Number : 93 Question Id : 663695444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



Idle hands are the devil’s tools

Options :

1. #® Do something exactly right or say something exactly right

2. % You are more likely to get in trouble if you have nothing to do

3. # When you already have it good and get something on top of what you already have

4. ® When one thing goes wrong, then another, and another...

Question Number : 94 Question Id : 663695445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Lots of energy and style
Options :

1. #® Panacea

2. ¥ Panache

3. # Parlance

4. ® Parsimony

Question Number : 94 Question Id : 663695445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

Lots of energy and style
Options :

1. #® Panacea

2. ¥ Panache

3. # Parlance

4. % Parsimony

Question Number : 95 Question Id : 663695446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

A large natural or artificial lake used as a source of watersupply
Options :

1. ¥ Rummage

2. # Reticent

3. # Regalia

4. % Reservoir

Question Number : 95 Question Id : 663695446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below.

A large natural or artificial lake used as a source of watersupply
Options :

1. ¥ Rummage

2. % Reticent

3. # Regalia

4. % Reservoir

Sub-Section Number : 2
Sub-Section Id : 66369525
Question Shuffling Allowed : Yes

Question Id : 663695447 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)
Read the following passage carefully and answer the questions given below.

The debate on whether Australia will have a nation-wide carbon trading scheme ended last week with the government committed to a national
emissions scheme from 2012. However, the decision-making as to how we power the economy in a carbon constrained world is only just
beginning. Fossil fuels like coal and oil have underpinned our economic growth and standard of living for decades. The current resources boom is



there because other countries want our fossil fuels, and for all these reasons it is profitable to keep mining them. Ironically, the income may help
develop the technologies to replace them, but it is a matter of which and when.

Almost certainly, in the race to reduce emissions, new technologies such as solar, wind and geothermal (heat from rocks) power will compete
against gas, clean coal and perhaps nuclear energy to win the hearts and minds of the business world. In the end, business will favour whatever is
a cheap, abundant and reliable solution. You can imagine the lobbying that will ensue from the different interest groups, to attract business capital
and government support so that their technology wins out. There may be many collapsed ventures and lost fortunes along the way.

Sub questions

Question Number : 96 Question Id : 663695448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Australian national emissions scheme formed?
Options :

1. ® 1911

2. % 1914

3. % 2008

4.9 2012

Question Number : 97 Question Id : 663695449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country is being talked about in the line "The current resources boom is there because other countries want our fossil fuels, and for all
these reasons it is profitable to keep mining them."?

Options :

1. * England
2. % US.A.
3. * UAE
4. ¥ Australia

Question Number : 98 Question Id : 663695450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a fossil fuel?
Options :



1. #® Coal

2. % 0il

3. ® Gas

4. ¥ Geothermal

Question Number : 99 Question Id : 663695451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is INCORRECT?

Options :

1. # The income generated from mining fossil fuels may help develop the technologies to replace them.

2. % New technologies such as solar, wind and geothermal power will compete against gas, clean coal and perhaps nuclear energy.
3. % Fossil fuels have been used for years to produce and meet our energy needs.

4. ¥ Coal, gas, and, geothermal are all types of fossil fuels.

Question Number : 100 Question Id : 663695452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the line, "Fossil fuels like coal and oil have underpinned our economic growth and standard of living for decades." mean?
Options :

1. # Fossil fuels have been causing a decline in the economic growth for power consumption for decades.

2. # Fossil fuels have been causing great harm to the environment when used to produce energy.

3. % Fossil fuels have been used for years to produce and meet our energy needs.

4. ¥ Fossil fuels have been used the supporting pillar for our economic growth for power consumption for decades.

Question Id : 663695447 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)
Read the following passage carefully and answer the questions given below.

The debate on whether Australia will have a nation-wide carbon trading scheme ended last week with the government committed to a national
emissions scheme from 2012. However, the decision-making as to how we power the economy in a carbon constrained world is only just
beginning. Fossil fuels like coal and oil have underpinned our economic growth and standard of living for decades. The current resources boom is



there because other countries want our fossil fuels, and for all these reasons it is profitable to keep mining them. Ironically, the income may help
develop the technologies to replace them, but it is a matter of which and when.

Almost certainly, in the race to reduce emissions, new technologies such as solar, wind and geothermal (heat from rocks) power will compete
against gas, clean coal and perhaps nuclear energy to win the hearts and minds of the business world. In the end, business will favour whatever is
a cheap, abundant and reliable solution. You can imagine the lobbying that will ensue from the different interest groups, to attract business capital
and government support so that their technology wins out. There may be many collapsed ventures and lost fortunes along the way.

Sub questions

Question Number : 96 Question Id : 663695448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Australian national emissions scheme formed?
Options :

1. ® 1911

2. % 1914

3. % 2008

4.9 2012

Question Number : 97 Question Id : 663695449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country is being talked about in the line "The current resources boom is there because other countries want our fossil fuels, and for all
these reasons it is profitable to keep mining them."?

Options :

1. * England
2. % US.A.
3. * UAE
4. ¥ Australia

Question Number : 98 Question Id : 663695450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a fossil fuel?
Options :



1. #® Coal

2. % 0il

3. ® Gas

4. ¥ Geothermal

Question Number : 99 Question Id : 663695451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is INCORRECT?

Options :

1. # The income generated from mining fossil fuels may help develop the technologies to replace them.

2. % New technologies such as solar, wind and geothermal power will compete against gas, clean coal and perhaps nuclear energy.
3. % Fossil fuels have been used for years to produce and meet our energy needs.

4. ¥ Coal, gas, and, geothermal are all types of fossil fuels.

Question Number : 100 Question Id : 663695452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the line, "Fossil fuels like coal and oil have underpinned our economic growth and standard of living for decades." mean?
Options :

1. # Fossil fuels have been causing a decline in the economic growth for power consumption for decades.

2. # Fossil fuels have been causing great harm to the environment when used to produce energy.

3. % Fossil fuels have been used for years to produce and meet our energy needs.

4. ¥ Fossil fuels have been used the supporting pillar for our economic growth for power consumption for decades.

Disciplinel

Group Number : 6
Group Id : 66369511
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 66369524

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 66369526

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 663695453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A CEO expresses his vision to employees in an organization. What is the type of communication here?
Options :

1. * Upward Communication

2. % Downward Communication

3. #* Informal Communication

4. % Lateral Communication

Question Number : 101 Question Id : 663695453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U CEO TTTa H HHATRAT & foru 30+ uReeuT ad &3dl 8 | T81 GaR &1 UHR 3T g2
Options :

1. ® SEgE TR

2. ¢ JUIE AR

3. % AT YIR

4. % g ¥AR

Question Number : 102 Question Id : 663695454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When you are giving a Welcome or Introductory speech, which point should be kept in mind?

Options :

1. ¥ If you are not known to the audience, introduce yourself before you welcome and introduce others.

2. % Don't be bothered about the names, initials and so on.

3. # It's not necessary to express happiness on the fact that the speakers/guests have accepted the invite and have come over.
4. % Mis-pronouncements is considered ok if audience is cheering.

Question Number : 102 Question Id : 663695454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 319 W1 a1 GRS HTYUT ¢ g 81 al [T d1d &1 &1 -1 A1igu?

Options :

1. ¢ ¢ X 3MUD! T8I S €, Ol W H3- I Ugd U1 IRag & 3R gORl &1 U ¢ |

2. % AW, TIER 3G & IR H WA 7 5

3. % 3 T IR Y] Had BT ATTAD g1 © 1o aaarstl/ it 3 Fe=0r WieRr o foar g 8k Sufyd gu g |
4. % e qRi® qIgaTel HR IR & I TTad SR DI S HHT STl g |

Question Number : 103 Question Id : 663695455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a part of theme speech?



Options :

1. # Introduction
2. # Body

3. # Conclusion
4. ¥ Salutation

Question Number : 103 Question Id : 663695455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafefad 7 3 o1 a1 fawa w1 e 7Y 22
Options :

1. * gR=g

2. % For

3. % fyspy

4. « 3ff¥are

Question Number : 104 Question Id : 663695456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a person asks "What is a profession?", then what kind of inquiry is it?
Options :

1. % Normative Inquiry

2. ¥ Conceptual Inquiry

3. #® Descriptive Inquiry

4. % Confirmation Inquiry

Question Number : 104 Question Id : 663695456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e H18 Afad IHdl ¢ "O=T &7 82, Al 98 fohd UHR &1 I8 dis g2

Options :




1. % g IS dIS
2. ¢ NG IS
3. % UHATHD JBdIS
4. % OGP Usdl®

Question Number : 105 Question Id : 663695457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does NOT contribute to poor attitude of the employees?
Options :

1. # Poor working environments

2. # Absence of recognition and reward system

3. ¥ Presence of grievance redressal mechanism

4. % Lack of transparency

Question Number : 105 Question Id : 663695457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI HHATRA P WRIT 39T H GRTeH 8) a1 82
Options :

1. % gdd HRIGR] ATdTaRol

2. % HTAT 3R QREHR JOTTCH BT S{HTT

3. ¢ Rierd FRaru dF &1 Sufyfa

4. % URGRIA @1 wdl

Question Number : 106 Question Id : 663695458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a part of five core human values?
Options :

1. # Right conduct



2. * Peace
3. #* Truth
4. « Violence

Question Number : 106 Question Id : 663695458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifad 7 & o1 91 Ui g A gl o1 fewar T8 82
Options :

1. % Gl 3RO

2. % ifd

3. % 99

4.« g

Question Number : 107 Question Id : 663695459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
of an element is a determinant obtained by deleting the row and column in which that element occurs.
Options :
1. # Order
2. % Minor
3. % Co-factor
4. ¥ Matrix

Question Number : 107 Question Id : 663695459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fpdiuferic st IR g off S I 3R HIaH &I gl T fohar SiTdT & forgs a8 ad gl g |
Options :

1. % hH

2. ¥ YA




3. ® Yg-PRdh
4. % 3[Yg

Question Number : 108 Question Id : 663695460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Express: (3 + 2i) (4 +2i) in a + ib form
Options :

1.¥ 8+ 14

2. % 14 +8i

3. % 16 + 14

4. % 14+ 16i

Question Number : 108 Question Id : 663695460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I P (3 + 2i) (4 +2i) a+ ib TT
Options :

1.¥ 8+ 14

2. % 14 +8i

3. % 16+ 14i

4. % 14+ 161

Question Number : 109 Question Id : 663695461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the type of symmetry from the given equation (while tracing curves in symmetric form): X% = 4ay
Options :

1. # Symmetric about x-axis

2. % Symmetric about y-axis

3. ¥ Symmetric about both x- and y-axis



4. % Symmetric about origin

Question Number : 109 Question Id : 663695461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT T gHfihror ¥ TfHfd & TR Bt UgdH B (FUHT TU T Ihl b1 ¢ Hd HY): x2 = 4ay
Options :

1. % x-3f& b IR H FHHT

2. ¢ y-31& b IR T JAAT

3. % X—3ﬁ?y-3f&fa:ﬁ$aﬁﬁﬂﬂﬁlﬁ

4. % SR & IR H gHA

Question Number : 110 Question Id : 663695462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a property of streamline flow?

Options :

1. ® There is no orderliness in the flow of liquid.

2. ¥ The velocity of all particles in a line of flow is a constant.

3. ® The velocity of flow is always greater than the critical velocity.

4. ® Streamline flow will happen when the driving pressure is high.

Question Number : 110 Question Id : 663695462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRad o ¥ SF 91 YR UaTg &1 07 62
Options :

1. % T3P YaG & PIs A Toi 5

2. ¢ YaTg &1 ¥ & 9t Bl &1 9 FRR gt 51|
3. % TATg &1 a7 gHRN Shifdd a7 H 3P gl 5|
4. % USd G190 YD B IR YRR FdTg BHT|




Question Number : 111 Question Id : 663695463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the pressure and volume of a gas change, but no heat is allowed to enter or leave the gas, it is called
Options :

1. ¥ Adiabatic Change

2. % Isothermal Change

3. % Isentropic Change

4. % Tsobaric Change

Question Number : 111 Question Id : 663695463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

w%ﬁﬁqm 219 3R A Sad Sl 2, Al fha 1t S ) g § yaw e W Ble Y Al TR e, dfigd ol
olldli g
Options :

1. ¢ $GI™q aRad—

2. % guardt uRad=

3. % 3P uRad-

4. % FHGIST (SMZIETNE) TR

Question Number : 112 Question Id : 663695464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two or more than two forces that lie on same plane are called
Options :

1. # Concurrent forces

2. % Coplanar forces

3. * Frictional forces

4. % Parallel forces



Question Number : 112 Question Id : 663695464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S ATl SIS 9 I TP &l A W BId &, S EHSIGI
Options :

1. % gHadl 9d

2. FHAAY g

3. % gNUT §d

4. % JAMIR 9

Question Number : 113 Question Id : 663695465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a characteristic of dynamic RAM?
Options :

1. #* Tt has long life

2. % Large size

3. # High power consumption

4. ¥ Need to be refreshed continuously

Question Number : 113 Question Id : 663695465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad & § o O St 39 & aRivdr 82
Options :

1. % ZYPHT daTISilaT &

2. % G AMBR

3. % I faggas ol & @ud

4. ¢ AR R H BT Sexd

Question Number : 114 Question Id : 663695466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Production of dumps, traces and error messages is a part of which function of OS?
Options :

1. # File Management

2. ¥ Error Detecting aids

3. % Security

4. ¥ Memory Management

Question Number : 114 Question Id : 663695466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y, =i 3R Ffe TR o1 ST 08 F for thae o fewan 82
Options :

1. % HIsd gdeq

2. « gl &1 Udl & § Ffe

3. % {Re

4. % T U

Question Number : 115 Question Id : 663695467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a part of a typical computer window?
Options :

1. # Title bar

2. % Menu bar

3. % Slider

4. % Scroll bar

Question Number : 115 Question Id : 663695467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeiyd o @ & AR duges fae! &1 ur a8t 82
Options :

1. % TRCA IR

2. % T ER

3. ¢ WEeR

4, % ThId IR

Question Number : 116 Question Id : 663695468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A topology features a central connection point called a "hub" that may be a hub, switch or router.
Options :

1. ¥ Star

2. % Hub

3. ¥ Mesh

4. % Ring

Question Number : 116 Question Id : 663695468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

 fufafee | St duds fog gidr ¢ R ga el SiTd 8 T U 89, Raa a1 IS8R 8 YT 7 |

Options :
1. ¥ IR
2. % gd
3. % Ay
4. % £

Question Number : 117 Question Id : 663695469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a type of arrangement of dimensions?



Options :

1. % Chain dimensioning

2. % Parallel dimensioning
3. ¥ Combined dimensioning

4. ¥ Imposed dimensioning

Question Number : 117 Question Id : 663695469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 I1 {977 3t HIRIT BT UBR g1 82
Options :

1. % gigar fadr

2. % gUMHIGR fadr

3. % Igod fqm

4. ¢ IR fadT

Question Number : 118 Question Id : 663695470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many types of perspective projection are there?
Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 118 Question Id : 663695470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gRUeT J&YU fohd UHR & Bid 82

Options :



1. # 1
2.% 2
3.3
4. % 4

Question Number : 119 Question Id : 663695471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
views are views that are created by cutting into or through a part or assembly.
Options :
1. # Projected
2. ¥ Sectional
3. # Auxiliary
4. # Base

Question Number : 119 Question Id : 663695471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faR 3 foar € S forsdt 4T a1 3Rl Y HIeh T IS HIHH J §9TT ofld & |

Options :

Question Number : 120 Question Id : 663695472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two or more elements are in if they are connected to the same two nodes and consequently have the same voltage across them.
Options :

1. # concurrency



2. % series
3. % parallel
4. % hybrid

Question Number : 120 Question Id : 663695472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PR AR R DE AN AR ufe I T ST W IS 81 § SR Baaey 3 o1 A favaiaR giar g
Options :
1. % iRt
2. % @l
3. ¢ GHMAIR
4. % gIsfors
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Question Number : 121 Question Id : 663695473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When are two waveforms said to be in phase?

Options :

1. ¥ When the phase difference between them is zero.

2. ® When the phase difference between them is 90.

3. # When the zero point of the current waveform is before the zero point of the voltage waveform.

4. ® When the zero point of the current waveform is after the zero point of the voltage waveform.

Question Number : 121 Question Id : 663695473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ S 31 &1 aR0T 3R LA ¢

2. % O[§ 3% dId TROT 3R 90 B

3. % O YRT IUTY o1 Y fog dieesl T & Y g ¥ Ugd glar g
4. % U9 YRT TR $T Y fog dieesl T & I fofg & a18 a1 7

Question Number : 122 Question Id : 663695474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



NPN and PNP are types of which transistors?
Options :

1. ® Field-effect transistors

2. % Junction Field Effect Transistor

3. % Bipolar Junction Transistor

4. ® Insulated-gate bipolar transistors

Question Number : 122 Question Id : 663695474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NPN 3R PNP {5t TR & CifoRex §?
Options :

1. % &F-9YTd ¢ifoRe

2. % SiaRM fihes thae giforeR

3. ¥ SISUICR SIaRH CifoRe?

4. % TYACS-TIT TIRUICR ifoRex

Question Number : 123 Question Id : 663695475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an enterprise designed to perform complex and labour-consuming computational work using electronic computers.
Options :
1. ¥ Computer Center
2. % Computer Network
3. # High Performance Computers
4. % Workstations

Question Number : 123 Question Id : 663695475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. ¥ HYR Ix
2. % HYR Acad
3. % I YR e

4. % HRAA

Question Number : 124 Question Id : 663695476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Computer Center is generally divided into how many groups?
Options :

1. %1

2. %2

3.¢¥°3

4. % 4

Question Number : 124 Question Id : 663695476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * 1

2.% 2

3.3

4. % 4

Question Number : 125 Question Id : 663695477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is NOT a step in selecting a computer-family?
Options :

1. % Identification of possible vendors and manufacturers



2. # Primary elimination of irrelevant candidates
3. # Determination of mandatory requirements

4. ¥ Neglecting vendors' compliance with mandatory requirements

Question Number : 125 Question Id : 663695477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Fyifad fagsarsit 3ik fRafarsii ot ugam™
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Question Number : 126 Question Id : 663695478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will be the output of following C code?

#include

int main(){

int a=1,b=-1,c=0;
printf("%d",a||b&&c);
return O;

b
Options :

1. %0
2.9 |
3. % 1
4. % Error

Question Number : 126 Question Id : 663695478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAGfeRad ¢ ®Ig &1 3m3eye A1 ghe

#include

int main(){

int a=1,b=-1,c=0;
printf("%d",a||b&&c);
return O;

b
Options :
1. %0
2.¥ 1
3.% -1
4, % TR

Question Number : 127 Question Id : 663695479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will be the final value in res?

#include

int main(){

int val=0,res=200;

if (val&&(res = val+ 5)){
printf("Hello World");

}

return O;

}
Options :

1. #® 205
2. %210
3. %200
4. %0



Question Number : 127 Question Id : 663695479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G H SifcH 71w grm?

#include

int main(){

int val=0,res=200;

if (val&&(res = val+ 5)){
printf(""Hello World"");

}

return O;

}
Options :

1. # 205
2. % 210
3.4 200
4.%0

Question Number : 128 Question Id : 663695480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will happen when following program executes?

#include

int main(){

if (0=='0")
printf("Yes");
else
printf("No");
return O;

b
Options :



1. # Yes

2. ¥ No

3. % Nothing is displayed
4. # Error

Question Number : 128 Question Id : 663695480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad momm fAearfed 81 R o g2

#include

int main(){

if (0=='0"
printf(""YeS"");
else
printf(""NO"");
return O;

H

Options :

1. % T (YES)

2. ¢ 41 (NO)

3. % p3 i yeRiaTEigare
4. ¥ WX (Error)

Question Number : 129 Question Id : 663695481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a factor influencing demand?
Options :

1. # Income of the people

2. # Prices of goods

3. # Tastes of consumers

4. ¥ Government policies



Question Number : 129 Question Id : 663695481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfIRad & I DI 9T &1 THIAd I a1 SRS T8 62
Options :

1. % S Bt 31

2. % QI PIHA

3. % JUHIGISH BT WG

4. ¢ BRI e

Question Number : 130 Question Id : 663695482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the formula to calculate economic efficiency percentage?
Options :

1. # (Standard overhead rate x (Actual hours - Standard hours)) x 100
2. % ((Actual hours - Standard hours) x Standard rate) x 100

3. ¥ (Worth /Cost) x 100

4. ® (Heat equivalent of mechanical energy produced / Heat equivalent of fuel used) x 100

Question Number : 130 Question Id : 663695482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ({H® IURTY & x (ARAIGP °e - HFD °e)) x 100

2. ® ((ARAAP €< - AF® °c) x S &3) x 100

3. ¥ (9 / A7) x 100

4. % (I Fifd ol b IS b SRIaR / TGa S8 b I FHE) x 100




Question Number : 131 Question Id : 663695483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An industry wants to source its raw materials either from a nearby place or from a far-oft place. What factor should NOT be considered in this
scenario?

Options :

1. # Price of the raw material

2. % Quantity of the raw material

3. # Transportation cost of the raw material

4. # Quality of the raw material

Question Number : 131 Question Id : 663695483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ed O7d DT g

2. ¢ o HTd &1 A1

3. % P UTdl & YRdg ARt

4. % P GTdl D1 TUTa]

Question Number : 132 Question Id : 663695484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a non primitive and non linear data structure?
Options :

1. % Stack

2. ® Queue

3. % Integer

4. ¥ Graph



Question Number : 132 Question Id : 663695484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % QX

2. % R

3. % quiies

4. ¢ Jith

Question Number : 133 Question Id : 663695485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Heap is a good data structure to implement
Options :

1. ¥ Priority queue

2. # Linear queue

3. % Deque

4. # Binary Search Tree

Question Number : 133 Question Id : 663695485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ YUl |

2. ¥ WF T,
3. % Siag
4. % TN T &

Question Number : 134 Question Id : 663695486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A list is one, which has both the successor pointer and predecessor pointer in the circular manner.
Options :

1. #® Single Linked List

2. % Double Linked List

3. % Circular Linked List

4. ¥ Circular Double Linked List

Question Number : 134 Question Id : 663695486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Tl gaferd g (RivTet fefers fore)

2. % fgob gaferd gt (Sed feigs fore)

3. % gty gaferd gt (@per foias fore)

4. ¢ g fgep faferd gt (Fdher Sad foias fore)

Question Number : 135 Question Id : 663695487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a basic operation on a deque?
Options :

1. # enqueue front

2. % dequeue front

3. % enqueue rear

4. ¥ enqueue top

Question Number : 135 Question Id : 663695487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® TIR e

2. % S The

3. % TR R

4. ¥ T el

Question Number : 136 Question Id : 663695488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The function which allows the OS to decide which process gets the processor when and for how much time is called
Options :

1. # Traffic controller

2. ¥ Process scheduler

3. % 1/O controller

4. % Memory manager

Question Number : 136 Question Id : 663695488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % grarrd s

2. « Uihdl 3Igdd

3. % 1o FEas®

4. % TARY BoR

Question Number : 137 Question Id : 663695489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a disadvantage of Network Operating System?



Options :

1. #® Centralized servers are highly stable

2. ® Security is server managed

3. ¥ Regular maintenance and updates are required

4. ® Remote access to servers is possible from different locations

Question Number : 137 Question Id : 663695489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad 7 @ o9 I1 Aead iTaRfeT Red &1 ey 82
Options :
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Question Number : 138 Question Id : 663695490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The OS ensures that external I/O devices are protected from invalid access attempts. What kind of service is it?
Options :

1. # Error Detection

2. ¥ Protection

3. % Resource Allocation

4. ¥ Communication

Question Number : 138 Question Id : 663695490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % Ffe T

2. v &M

3. % IOyl BT e
4. % IR

Question Number : 139 Question Id : 663695491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Microsoft Windows Server 2008 is a type of which OS?
Options :

1. # Batch Operating System

2. # Time-sharing Operating System

3. ¥ Network Operating System

4. # Distributed Operating System

Question Number : 139 Question Id : 663695491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST [ WaR 2008 {59 OS HTUBR 87
Options :

1. % 9 TRfET Reew

2. % TISH-RIRAT TRfeT Rzed

3. ¢ dead TR Ren

4. % TSRgegcs SMTRfcT Ren

Question Number : 140 Question Id : 663695492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following device operates at the network layer of the OSI model?
Options :

1. # Hubs



2. % Network Interface Card
3. ¥ Routers
4. % Bridge

Question Number : 140 Question Id : 663695492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % Jead SBY Bl

3. ¥ [3IX

4. % ool
Discipline3

Group Number : 8

Group Id : 66369513

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 66369526

Section Number : 1

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
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Question Number : 141 Question Id : 663695493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which layer of the OSI model provides reliability through fault detection and recovery?
Options :

1. % Network

2. % Transport

3. % Data Link

4. % Session

Question Number : 141 Question Id : 663695493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® qcddb

2. ¥ TIUIC

3. % gl foe

4. % JIF

Question Number : 142 Question Id : 663695494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The computer which serves as a central storage point for files or application programs shared on the network is called
Options :

1. ¥ Server

2. % Client

3. # Distributed system

4. % Peer

Question Number : 142 Question Id : 663695494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ g

2. % Ylgd

3. % faaRd yomedt

4. % TEHH

Question Number : 143 Question Id : 663695495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group of objects that share common properties for data part and some program part are collectively called as
Options :

1. # Nested Objects

2. ¥ Class

3. ¥ Member functions

4. % Structure

Question Number : 143 Question Id : 663695495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. ¥ N
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Question Number : 144 Question Id : 663695496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How is a class made abstract in C++?

Options :

1. #® Declaring at least one of its functions as static function

2. ® Declaring at least one of its functions as friend function

3. ¥ Declaring at least one of its functions as pure virtual function

4. ® Declaring at least one of its functions as virtual function

Question Number : 144 Question Id : 663695496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 145 Question Id : 663695497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is NOT an application of OOPs?
Options :

1. ¥ SQL injection



2. % Object oriented databases
3. % Real — Time systems

4. # Al and expert systems

Question Number : 145 Question Id : 663695497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad & 9 &H 91 00Ps &7 Y@IH=H T8l 87
Options :

1. ¥ SQL Sui&H

2. % 3leolae IRTCE ScTe

3. % Jd-crgH Rer

4. % Al 3R faivg yomeh

Question Number : 146 Question Id : 663695498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the operators in C++ that are used to format the data display called?
Options :

1. % Assignment Operator

2. % Manipulators

3. # Logical Operator

4. ¥ Formatter

Question Number : 146 Question Id : 663695498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 3MEIEAHC IR
2. ¥ ﬁélgéaz
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4, ® BIHR

Question Number : 147 Question Id : 663695499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following RAMs transfers data on both edges of the clock?
Options :

1. # S-RAM

2. % D-RAM

3. ¥ SDRAM

4. ¥ DDR-SDRAM

Question Number : 147 Question Id : 663695499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % S9

2. % DA

3. ¥ SDRAM

4. ¥ DDR-SDRAM

Question Number : 148 Question Id : 663695500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following bus is unidirectional?
Options :

1. ¥ Address Bus

2. % Data Bus

3. # Control Bus



4. % Local Bus

Question Number : 148 Question Id : 663695500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ S T

2. % STI9d

3. % hald9q

4. % ofihd 99

Question Number : 149 Question Id : 663695501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the type of addressing from given instruction.

MVI A, 06

Options :

1. # Register Addressing

2. # Register Indirect Addressing
3. % Immediate Addressing

4. # Relation Addressing

Question Number : 149 Question Id : 663695501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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MVI A, 06
Options :

1. % IR TS



2. # IR TSN TR
3. ¢ gHifgde TeRRi
4. % RozE Teiim

Question Number : 150 Question Id : 663695502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 S 91 IR 37 JE13T BT TR BT g off [ AT SIRERMA Sl a9 & 1Y, AR &1 Vol 1 UTed &1 off a1 82
Options :

1. % gAPich AR

2. ¢ TORI TR AR

3. % TURI Tgy IR

4. % UHIH B3R

Question Number : 150 Question Id : 663695502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following registers stores information that is being sent to, or received from, the memory along the bidirectional data bus?
Options :

1. # Index Register

2. ¥ Memory Buffer Register

3. ¥ Memory Address Register

4. # Program Counter

Question Number : 151 Question Id : 663695503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is a property of database transaction that states "it cannot be divided up any further"?
Options :

1. ¥ Atomicity

2. # Consistency



3. # Isolation
4. # Durability

Question Number : 151 Question Id : 663695503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfRed & ¥ 319 SeIay e &1 701 § ForH &1 T o <3 o fauiferd =gt fovam o davdl g2
Options :

1. % UIHTUT

2. % DR

3. % S{ISHIARM

4. % SQfeferct

Question Number : 152 Question Id : 663695504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the language from the query.

create table account (account-number char(10), balance integer)
Options :

1. # Transaction Control Language

2. % Data Manipulation Language

3. % Data Control Language

4. ¥ Data Definition Language

Question Number : 152 Question Id : 663695504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

2. % ST B-IgaRE oidw



3. % 32T dheld avael
4. ¢ 31 SR dew

Question Number : 153 Question Id : 663695505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A DBMS can support multiple users, but the DBMS and the database themselves reside totally at a single computer site.
Options :

1. # Single-user systems

2. % Multiuser systems

3. ¥ Centralized

4. # Distributed

Question Number : 153 Question Id : 663695505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % Uhd-IUARTHdl YuTTel
2. % FEIGANTEHA! HoTett
3. ¢ Balpd
4. % fqafa

Question Number : 154 Question Id : 663695506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is NOT a benefit of normalized relational database?
Options :

1. #® Elimination of redundant data storage.

2. ® Close modelling of real world entities, processes, and their relationships.

3. ¥ Makes database more efficient and reliable.



4. ¥ Destructuring of data so that the model is flexible.

Question Number : 154 Question Id : 663695506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafed ¥ @ S 1 YRl YUt STy &1 8l 82
Options :

1. % 3{IITDH STl YUY b1 IH |

2. % gRdfde gfHar Bt TS, ufshanatt ok 3% et o1 aaret AIS e |
3. % 99 B 3HfYPG HIE 3R Ay s g

4. ¢ ST DI Y BT diich Aled drel gl

Question Number : 155 Question Id : 663695507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which ring does Linux OS use?

Options :

1. # Ring 0&1

2. ® Ring 1&3

3. ¥ Ring 0&3

4. ® Ring 0,1&3

Question Number : 155 Question Id : 663695507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fera os forg 1 &1 IudivT ol 82

Options :

1. % 7 0&1
2. % 7 1&3
3. ¢ 7 0&3
4. % f170,1&3



Question Number : 156 Question Id : 663695508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiead o 9 & e 0S &1 Ay 82

Options :

1. % T B I B o 7T S+ 7T T

2. ¢ fora Sgd Iudiaar BEgul 8 §

3. % fora farsht +ft BT aTR wiewid & forg Uidad §
4. % oo qua 8

Question Number : 156 Question Id : 663695508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is a disadvantage of Linux OS?
Options :

1. # Linux was made to keep on running

2. % Linux is not very user friendly

3. % Linux is portable to any hardware platform

4. % Linux is free

Question Number : 157 Question Id : 663695509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Linux commands is used to display a list of files in the current working directory?
Options :

1. ¥ 1s

2. # apropos

3. # info

4. % pwd

Question Number : 157 Question Id : 663695509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafaied & @ o 9 forey wuis adu iRl S¥aedt § wigal ot gt velRid & & fore Iy faar S g2

Options :
1.¥Is

2. % U
3. % ZO]

4. % pwd

Question Number : 158 Question Id : 663695510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which shell is used in Linux?

Options :

1. % Powershell

2. % Explorer

3. % Command prompt

4. ¥ Bourne Again shell

Question Number : 158 Question Id : 663695510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oo o {5 Qd &1 STanT fhan ST 82
Options :

1. % ORI

2. % TRIWIRR

3. % HAE Yy

4. ¥ S 3 A

Question Number : 159 Question Id : 663695511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
reduces the size of a digital file by removing bits of information that a computer can recreate when processed.
Options :
1. # Rendering
2. # Animation
3. ¥ Digital compression

4. % Production

Question Number : 159 Question Id : 663695511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I & 9T $l g fSfoTed BIsd & SMHR & HH BT ¢ o SR JAIId 814 W R I a1 T 2|
Options :
1. % ¥ef&m
2. % THIARE
3. ¢ [SfSTed FHIRA
4. ® 3dlaA

Question Number : 160 Question Id : 663695512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a category of multimedia?
Options :

1. # Linear

2. ® Interactive

3. ® Real-time

4. ¥ Static

Question Number : 160 Question Id : 663695512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 o1 @ g o &1 9ot a8 32



Options :

1. % I@P

2. % FIaTHD (FXfdea)
3. % gd-argy

4. ¢ Rfew
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Question Number : 161 Question Id : 663695513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is a multimedia authoring tool?
Options :

1. # Adobe Photoshop

2. % Macromedia Director

3. ¥ Windows Media Player

4. # Adobe Premiere

Question Number : 161 Question Id : 663695513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed o 9 o9 a1 e iifean iyl ared g2
Options :

1. ® TSI WIS

2. ¥ HpIHITSTT STRER

3. % fdeiv Hifgar @R

4. % TSI9 UITRR

Question Number : 162 Question Id : 663695514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which protocol is used on the Internet for transmitting real-time data such as audio and video?
Options :

1. ¥ Real-Time Transport Protocol

2. #* Simple Network Management Protocol

3. # File Transfer Protocol

4. % Simple Mail Transfer Protocol

Question Number : 162 Question Id : 663695514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
T Melpia o1 IuanT SHifeal 3ik ifgar S Sud-erzH Se1 Taid H31 & ot e W fHar Srar g2

Options :

N C N

1. ¢ qga1-cr2y TUIC Uit
2. % RYUd Acdd HASHC HedbId

Question Number : 163 Question Id : 663695515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the first layer in Multimedia Framework Architecture?
Options :

1. # Presentation Layer

2. % A/V Streams Control Layer

3. # MMHardware CORBA Server Layer

4. ¥ MMHardware and System Software Layer

Question Number : 163 Question Id : 663695515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AedHifEar thaad sifdhedmr § UyH 3/ 1 82
Options :

1. % Yoy oR

2. % A/V K hHeld R

3. % MMBTSAR CORBA IR TR

4. v MMETSaTR 3R ReH WtediR TR

Question Number : 164 Question Id : 663695516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What Visual Basic control can be used to have a box that displays text that CANNOT be changed by the user?
Options :

1. # Form

2. % Label

3. # TextBox

4. % PictureBox

Question Number : 164 Question Id : 663695516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI 3 faqera R a0 &1 SUaT Siaw @ & foTe fardT St e & S U1 U1 UG RId &1 o SUdNTahd! gRT Saal Agl off T
Options :

1. % ®IY

2. ¢ d§d

3. % CRCAIN

4. % TGRS

Question Number : 165 Question Id : 663695517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is used to declare a variable in visual basic?
Options :

1. # Var

2. % Sub

3. % Declare

4. ¥ Dim

Question Number : 165 Question Id : 663695517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fagsra o & afkuaa 9iftd & & forg forr faaRor &1 SuaT fasan ST &2

Options :



. % R
2. % 99
3. # fSFIsR
4. v f&u

Question Number : 166 Question Id : 663695518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is NOT a Collection class in Visual Basic?
Options :

1. ¥ HashMap

2. % ArrayList

3. # BitArray

4. # Stack

Question Number : 166 Question Id : 663695518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed & 3 &F w1 fage aiie & s AN J8t 62
Options :

1. ¥ g¥HY

2. % Wfere

3. % fge®RR

4. % P

Question Number : 167 Question Id : 663695519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is NOT a Visual Basic Control?
Options :

1. % CheckBox



2. * PictureBox
3. ¥ RadioBox
4. # GroupBox

Question Number : 167 Question Id : 663695519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafafad 3 Q5 a1 fagerd sRie dera T8 &
Options :

1. % Jhelry

2. % fUgeREH

3. ¢ AETIeiod

4. % YUSied

Question Number : 168 Question Id : 663695520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is NOT a type of feasibility while developing a software?
Options :

1. # Technical Feasibility

2. ¥ Capital Feasibility

3. ® Operational Feasibility

4. % Economic Feasibility

Question Number : 168 Question Id : 663695520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea & 9 oF 1 SivcddR fawRia sd I9g gregan ((Rfafere) &1 UeR T8 82
Options :

1. % debeileh! TeAd (SforTepet fohfuifaferct)

2. ¢ Biled Fredl (dbived fhifafec




3. % gRETE A1ead (JTRRAET [hiufafere)
4. % e Tremar FHAIHS et

Question Number : 169 Question Id : 663695521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the fourth step in DMADYV methodology?
Options :

1. # Define

2. # Verify

3. # Analyze

4. ¥ Design

Question Number : 169 Question Id : 663695521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DMADV BYSIdish & 91T a=07 &1 52
Options :

1. % gy

2. % g

3. % fa=elwor

4. ¢ {Samz

Question Number : 170 Question Id : 663695522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the second phase in waterfall model?
Options :

1. # Requirements analysis and specification
2. ® Operation and maintenance

3. ¥ System design



4. % Implementation and unit testing

Question Number : 170 Question Id : 663695522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e Iel HiSel H GERT ORI 1 87
Options :

1. % 3fagerdr fazayor 3R fafdw
2. % A 3R ITRTTG

3. ¢ Riey &g

4. % ZAEHCRA 3R e e

Question Number : 171 Question Id : 663695523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which flag in 8086 microprocessor represents the result when the system capacity is exceeded?
Options :

1. # Trap flag

2. # Interrupt flag

3. # Auxiliary flag

4. ¥ Overflow flag

Question Number : 171 Question Id : 663695523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8086 TTSSHITIER H DI I Ui, Ried o1 &1 ¥ 31 g+ IR uRumd &1 yfaffia & g2
Options :

1. % ST

2. % $TY W

3. % SfffoRaferat T

4. SfTERTA T




Question Number : 172 Question Id : 663695524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many ways of communication are there in which the microprocessor can connect with the outside world?
Options :

1. %1

2.9 2

3.%3

4, % 4

Question Number : 172 Question Id : 663695524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & foram dRidh & for T HTShINRIR STeX] g-aT ¥ 98 bl 82
Options :

1. % 1

2.¥2

3.%3

4. % 4

Question Number : 173 Question Id : 663695525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is NOT a feature of 8085 microprocessor?
Options :

1. # Tt is an 8-bit microprocessor

2. % It has an 8-bit address bus

3. # It has 16 bit program counter

4. % Data bus is a group of 8 lines DO-D7

Question Number : 173 Question Id : 663695525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

foferiRad & ¥ &9 I1 8085 HISHITEER &1 fa=wdr 78t 82
Options :

1. % Ug Us 8-foc ATSHIURR §

2. ¢ A g foe g u R

3. % 3OH 16 A UM e 8

4. % ST 8 AIRAI DO-D7 1 TH TE §

Question Number : 174 Question Id : 663695526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a disadvantage of client-server networks?
Options :

1. # Centralized

2. # Scalability

3. ¢ Traffic Congestion

4. ®¥ Security

Question Number : 174 Question Id : 663695526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FoffRed § 3 ®F 91 Fage-AdR Acad BT 3y g7
Options :

1. ® Pdihd ([Hdzws)

2. ® O

3. ¢ ¢t drolRM

4. % TR

Question Number : 175 Question Id : 663695527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the web browser with little functionality of its own called?
Options :

1. % Thin client

2. # Thick client

3. ®* Thin server

4. % Thick server

Question Number : 175 Question Id : 663695527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 STISR AT 3=t HRIeHA HH Bl § I T Hed 82
Options :

1. ¢ R Farge

2. % P gaEe

3. % fHgaR

4. % % IR

Question Number : 176 Question Id : 663695528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is used to lookup for the address of the web server?
Options :

1. # DHCP Server

2. % Remote Server

3. % Storage Server

4. ¥ DNS Server

Question Number : 176 Question Id : 663695528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 TR BT IS WioH & T foaesT TanT farar ST /2




Options :

1. % DHCP JaR
2. % J{Hic R
3. % WS gak
4. ¥ DNS IR

Question Number : 177 Question Id : 663695529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the tier between the data tier and the server tier called in multi-tier architecture?
Options :

1. * Frontend

2. # Backend

3. % Middleware

4. #® Client tier

Question Number : 177 Question Id : 663695529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST e SR IR femR & o9 & ek &1 Aec-feaR sifdhedar H o1 FHgl offdll 62
Options :

1. % hels

2. % IHUS

3. ¢ fgdam

4, ® Ffge feR

Question Number : 178 Question Id : 663695530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following server remembers client data from one request to the next?
Options :



1. # Stateless server
2. ¥ Stateful server
3. % DHCP server
4. # DNS Server

Question Number : 178 Question Id : 663695530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & & & 91 9 AL STl B THh SRIY U GER 3RIY T ATG 39T 52
Options :

1. % ¥Tag g

2. ¢ WTHdA X

3. % DHCP ¥aR

4. % DNS JdR

Question Number : 179 Question Id : 663695531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is a program which is used to translate an assembly language program into its machine level language equivalent?
Options :

1. # Linker

2. % Compiler

3. # Interpreter

4. ¥ Assembler

Question Number : 179 Question Id : 663695531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ig I 91 U § fSIahT SUGIT SRael HIST TR &1 3 ARIA WRIg HINT GH&e H 3dle - & g a1 ST g2
Options :

1. % iR



2. ¥ IUNH
3. % e
4. ¢ A

Question Number : 180 Question Id : 663695532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is a type of computer application used to create a virtual environment?
Options :

1. ¥ Virtual Machines

2. # Virtual Box

3. % Kernel

4. * Virtual Disk Image

Question Number : 180 Question Id : 663695532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y31 IATaRYT §H & foU fohd TR & e Urh e &1 IUgIT far Sdn /2
Options :

1. ¢ g3 T=iA

2. % Y §iag

3. % PAd

4. % gYad fowm W
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 663695533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is a computer system in which computation tasks are distributed among several processors?
Options :

1. * Layered System

2. ¥ Distributed System

3. * Network Operating System

4. % Real Time System

Question Number : 181 Question Id : 663695533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I I B JUTT g o &5 TRIER & aid BRI B! ! [ddiRd bl Srdl 82
Options :

1. % tRs Rew

2. ¥ fefesges Ren

3. % Jegd AT Red
4. % oo ersH R¥eq

Question Number : 182 Question Id : 663695534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is an international organization with the aim of setting standards for HTML use?
Options :

1. % World Standards Cooperation

2. # IEEE

3. ¥ W3C Consortium

4. % International Electrotechnical Commission

Question Number : 182 Question Id : 663695534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B T SIRTPTI W13 & FPT I5= HTML STIN & forg 7 RefRd s g2
Options :

1. % fay A7 Jgan

2. # IEEE

3. ¥ S&g 3 lEY

4. % RIS oG-l SN

Question Number : 183 Question Id : 663695535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the element that gives developers a semantic way to identify navigation for a site?



Options :
1. o < nav-

2. % <a=
3. % <href>
4. % <section=

Question Number : 183 Question Id : 663695535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 P 1 uferde g S STaud ol Urge & forg feagara (Afaiee) &t ugem & &1 31yt i <ar g2

Options :

1.« <hav=>
2. % =a~
3 % <href>

4 % <section=

Question Number : 184 Question Id : 663695536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which HTML element is used to create a logical grouping of content or elements on a page?
Options :

| % <body>



4. ‘-.-‘/ t*di"\' -

Question Number : 184 Question Id : 663695536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy WR grEh a1 uferdic &1 difdes T4 991 & fo {5 HTML Tferie o1 SuanT fosar Sirar g2

Options :

| & <body=

2 ® P
3 ® <br=
4. V/ "ﬂdi‘r -

Question Number : 185 Question Id : 663695537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SId SUANTEdl CRe 1 Udh o AT Ufad gol 1 a18d & dl fhd HTML Tferie &1 IaRT fasa Srdr g2

Options :

| % <input type="text">

) ® c::textp_iz}



3 <textarea>

4% P>

Question Number : 185 Question Id : 663695537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which HTML element is used when users want to enter more than just one line of text?
Options :

| % <input type="text">

5 % <textp>

3« <textarea™

4% P>

Question Number : 186 Question Id : 663695538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a characteristic of an entrepreneur?
Options :

1. ¥ Unclear objectives

2. ®% Hard work

3. #® Risk bearer

4. ¥ Independence

Question Number : 186 Question Id : 663695538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFrafafed & @ o1 < ST ot faRivdr 78t 2
Options :

1. ¥ 3RY 35

2. % HOR URYH

3. * SiRgH I8P

4, % gl

Question Number : 187 Question Id : 663695539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an economic factor that affects the entrepreneurial growth?
Options :

1. ¥ Cryptocurrency

2. # Capital

3. #® Labour

4. % Raw material

Question Number : 187 Question Id : 663695539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed & 3 oF a1 siifes SRS 8 & S Sem=itear fdem o yuifad &l 52
Options :

1. ¢ ST gt

2. % goit

3. % 9H

4, ® hdl HI

Question Number : 188 Question Id : 663695540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is NOT a type of ownership structure?
Options :

1. #® Proprietorship

2. % Partnership

3. # Joint Stock Company

4. ¥ Promotership

Question Number : 188 Question Id : 663695540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRad & I ®IF 91 WIid SR BT ISR T8t 62
Options :

1. % Wi

2. % GEER

3. % Igad Yol T

4. ¢ TAIR-UOR (THIeI™0)

Question Number : 189 Question Id : 663695541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What type of network is the Internet?
Options :

1. % LAN

2. % MAN

3. ¥ WAN

4. % DAN

Question Number : 189 Question Id : 663695541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gexe [ YR &7 Aedd 52

Options :



1. * LAN
2. % MAN
3. ¥ WAN
4. % DAN

Question Number : 190 Question Id : 663695542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many versions of IP addresses are available?
Options :

1. %1

2.2

3.%3

4. % 4

Question Number : 190 Question Id : 663695542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IP TS & foha AT IUA §2
Options :

1. %1

2.2

3.%3

4. % 4

Question Number : 191 Question Id : 663695543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the process that is used by DHCP for providing the IP Address to the clients/host machine?
Options :

1. * SYN



2. % ACK
3. ¥ DORA
4. * FIN

Question Number : 191 Question Id : 663695543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FaTee/aRe HRF & 1P T9Y UEH &R & folt DHCP g§RT SUTNT St ST aTel! Hfehar a1 g2
Options :

1. * SYN

2. % ACK

3. ¥ DORA

4. % FIN

Question Number : 192 Question Id : 663695544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which port is used by HTTP?

Options :

1. % 443

2. % 24

3. % 68

4.+ 30

Question Number : 192 Question Id : 663695544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTTP gRT fohd U ST IUdIT foma STl 82
Options :

1. % 443

2. % 24

3. % 68



4.9 80

Question Number : 193 Question Id : 663695545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is a collection of tools for network monitoring and control?
Options :

1. ¥ Network management system

2. # Network administration

3. % Network controllers

4. % Service provider

Question Number : 193 Question Id : 663695545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TR 3R P01 & T JuaHRuT &1 TUg F1 57
Options :

1. ¢ Jeds BeerHe Red

2. % dcad TSAMKRH

3. % Jedm HeleRk

4. % Fidg PrarseR

Question Number : 194 Question Id : 663695546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an example of WAN provider?
Options :

1. # Bell Atlantic

2. % AT& T

3. % Verizon

4. ¥ Spyder



Question Number : 194 Question Id : 663695546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfed & & B I WAN U&Tdl &1 3aTexUl 78l o7
Options :

1. % 99 3[cdiicd

2. ®# TS

3. % RS

4. ¥ WIS

Question Number : 195 Question Id : 663695547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following network technology is NOT based on scale?
Options :

1. % LAN

2. % WAN

3. ¥ MAN

4. ¥ Multipoint

Question Number : 195 Question Id : 663695547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad o 9 &H W Aead de-id AS W TR 781 62
Options :

1. % LAN

2. % WAN

3. ¥ MAN

4. ¢ AIUSe




Question Number : 196 Question Id : 663695548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does SNMP rely upon?

Options :

1. = TCP

2. % BGP

3. ¥ UDP

4. % FTP

Question Number : 196 Question Id : 663695548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SNMP {58 IR R F=ar g2

Options :

1. % TCP

2. % BGP

3. % UDP

4. % FTP

Question Number : 197 Question Id : 663695549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following multiple access techniques divides the radio spectrum into time slots, and in each slot, only one user is allowed to
either transmit or receive data?

Options :

1. * FDMA
2. ¥ TDMA
3. #* SDMA
4. % CDMA

Question Number : 197 Question Id : 663695549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafiRad 7 9 o T Aeciud ToiY do-iie (STl auichd o RuiiRd T 7 fuiiord Sl 8, 3R Ude 3iafd H, ad U IuaNThd!
&1 g1 1 ST 1 YT B 1 SFAf 82

Options :

1. % FDMA
2. ¥ TDMA
3. ¥ SDMA
4. % CDMA

Question Number : 198 Question Id : 663695550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is a technique by which the Uplink and the Downlink transmissions are carried over the same frequency by using synchronized time
intervals?

Options :

1. ¥ Time Division Duplex
2. # Channel Separation
3. # Channel Raster

4. # Frequency Division Duplex

Question Number : 198 Question Id : 663695550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
agﬁ;%ﬂa%ﬂiﬁ%ﬁlﬁm&mﬁiﬁﬁmmﬁwﬁmwmmwwmmwmﬁm
olldl &2

Options :

1. ¢ 2r2q fSdioH S

2. % I YURRM

3. % A IR

4. % fipebdl fSdioH gwiad




Question Number : 199 Question Id : 663695551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is NOT a component of GSM network?
Options :

1. % Base Station Subsystem

2. # Network Switching Subsystem

3. # Mobile Station

4. % Packet Control Function

Question Number : 199 Question Id : 663695551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I AT GSM "cadh &I 9cd gl 57
Options :

1. % 9 WA JaReH

2. % Jeqeh Rafi gaRed

3. % T W

4. ¢ Yope Held HarH

Question Number : 200 Question Id : 663695552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The source is converted by into an electrical waveform referred to as the baseband signal or message signal.
Options :

1. ¥ input transducer

2. % output transducer

3. # transmitter

4. % receiver

Question Number : 200 Question Id : 663695552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A Bl gR1 faggd avRey # uRkafdd farar ST | o Sud's R a1 Wi Rua w1 o g

Options :

1. ¥ TYC COSIR

2. % 33CYC ISR
3. % gigHicR

4, % R




